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考研英语阅读理解精读100篇unit1

unit1
Some of the concerns surrounding Turkey’s application to join the European Union, to be voted on by the EU’s Council of Ministers on December 17th, are economic-in particular, the country’s relative poverty. Its GDP per head is less than a third of the average for the 15 pre-2004 members of the EU. But it is not far off that of one of the ten new members which joined on May 1st 2004 (Latvia), and it is much the same as those of two countries, Bulgaria and Romania, which this week concluded accession talks with the EU that could make them full members on January 1st 2007.

Furthermore, the country’s recent economic progress has been, according to Donald Johnston, the secretary-general of the OECD, "stunning". GDP in the second quarter of the year was 13.4% higher than a year earlier, a rate of growth that no EU country comes close to matching. Turkey’s inflation rate has just fallen into single figures for the first time since 1972, and this week the country reached agreement with the IMF on a new three-year, $10 billion economic programme that will, according to the IMF’s managing director, Rodrigo Rato, "help Turkey... reduce inflation toward European levels, and enhance the economy’s resilience".

Resilience has not historically been the country’s economic strong point. As recently as 2001, GDP fell by over 7%. It fell by more than 5% in 1994, and by just under 5% in 1999. Indeed, throughout the 1990s growth oscillated like an electrocardiogram recording a violent heart attack. This irregularity has been one of the main reasons (along with red tape and corruption) why the country has failed dismally to attract much-needed foreign direct investment. Its stock of such investment (as a percentage of GDP) is lower now than it was in the 1980s, and annual inflows have scarcely ever reached $1 billion (whereas Ireland attracted over $25 billion in 2003, as did Brazil in every year from 1998 to 2000).

One deterrent to foreign investors is due to disappear on January 1st 2005. On that day, Turkey will take away the right of virtually every one of its citizens to call themselves a millionaire. Six noughts will be removed from the face value of the lira; one unit of the local currency will henceforth be worth what 1m are now-ie, about €0.53 ($0.70). Goods will have to be priced in both the new and old lira for the whole of the year, but foreign bankers and investors can begin to look forward to a time in Turkey when they will no longer have to juggle mentally with indeterminate strings of zeros.

注（1）：本文选自Economist；12/18/2004, p115-115, 2/5p；
注（2）：本文习题命题模仿2004年真题text 1第1题和第3题（1，3），2001年真题text 1第2题（2），1999年真题text 2第2题（4）和2002年真题text 3第4题（5）；
1.       What is Turkey’s economic situation now?

[A] Its GDP per head is far lagging behind that of the EU members.

[B] Its inflation rate is still rising.

[C] Its economy grows faster than any EU member.

[D] Its economic resilience is very strong.

2.       We can infer from the second paragraph that__________.

[A] Turkey will soon catch the average GDP level of the 15 pre-2004 EU members

[B] inflation rate in Turkey used to be very high

[C] Turkey’s economy will keep growing at present rate

[D] IMF’s economic program will help Turkey join the EU

3.       The word “oscillated” (Line 3, Paragraph 3) most probably means_________.  

[A] fell

[B] climbed

[C] developed

[D] swang

4.       Speaking of Turkey’s foreign direct investment, the author implies that_________.

[A] it’s stock is far less than that of other countries

[B] it does not have much influence on Turkey’s economic progress

[C] steady GDP growth will help Turkey attract more foreign direct investment

[D] Turkey’s economic resilience relies on foreign direct investment

5.       We can draw a conclusion from the text that__________.
[A] foreign investment environment in Turkey will become better
[B] Turkey’s citizens will suffer heavy loss due to the change of the face value of the lira
[C] the local currency will depreciate with the removal of six noughts from the face value

[D] prices of goods will go up

答案：C B D C A

篇章剖析
本篇文章是一篇说明文，介绍了土耳其的经济状况。第一段将土耳其的经济情况和其他几个欧盟新成员国的经济情况进行了一下对比，说明土耳其的经济状况并非如人们担心的那样糟糕；第二段对土耳其这几年的经济增长情况进行了简要介绍；第三段说明土耳其的经济缺乏弹性以及由此带来的影响；最后一段说明妨碍投资者的一个因素即将消失。
词汇注释
GDP: 国内生产总值(gross domestic product)

accession: [] n. 添加, 增加
OECD: 经合，经济合作与发展组织 (Organization for Economic Co-operation and Development)

resilience: [] n. 弹回, 有弹力, 恢复力,

oscillate: []v. 振荡
electrocardiogram: [] n. .[医]心电图, 心动电流图(略作ECG)

inflow: [] n. 流入, 流入物
deterrent: [di5tE:rEnt] n. 阻碍物
nought: [] n. 无, 零
lira: [] n. 里拉
juggle: [] v. （常与with连用）耍杂耍
indeterminate: [] adj. 在程度、体积、性质或数量上没有准确确定的
难句突破
But it is not far off that of one of the ten new members which joined on May 1st 2004 (Latvia), and it is much the same as those of two countries, Bulgaria and Romania, which this week concluded accession talks with the EU that could make them full members on January 1st 2007.

主体句式：it is not far off that…and it is much the same as..

结构分析：这是一个复杂句，句子主体结构是一个并列句，在第一个并列分句里有一个which引导的定语从句修饰new members，在第二个并列分句里有一个which引导的非限定性定语从句修饰Bulgaria and Romania，还有一个that引导的定语从句，修饰accession talks。
句子译文：但是和2004年5月1日加入欧盟的十个新成员国之一（拉脱维亚）相比，土耳其差得并不算太远，而和本周刚刚完成加入欧盟的谈判，并将在2007年1月获得完全成员地位的两个国家，保加利亚和罗马尼亚相比则相差无几。
题目分析
1. 答案为C，属事实细节题。根据文章第二段，土耳其的经济发展“十分惊人”。接着载第二行，作者以数据说明土耳其本年度第二季度的GDP增长“no EU country comes close to matching”，可见其经济发展速度超过任何欧盟成员。
2. 答案为B，属推理判断题。根据文章第二段“土耳其得通货膨胀率自1972年以来首次跌进各位数”可知，以前的通货膨胀率都在两位数甚至更多，是非常高的数字。
3. 答案为D，属猜词题。这个词的意思可以根据文中第三段所用的明喻判断出来。文中说，整个1990年代，土耳其的GDP增长就好像“遭受了猛烈的心脏病发作时的心电图一样”，可见GDP增长时高时低，峰谷之间的差异较大，所以oscillated最有可能的意思就是“摆动，震荡”，只有A中的swang意思与之相符。
4. 答案为C，属推理判断题。根据文章第三段，GDP的不规律性是导致土耳其难以吸引外国直接投资的主要原因，可见稳定的GDP增长有助于土耳其吸引更多的外国直接投资。
5. 答案为A，属推理判断题。文章在第一段和第二段介绍土耳其快速的经济增长。第三段分析了过去不能吸引急需的外国直接投资的主要原因之一：经济发展不规律性。文章最后一段介绍了将取消妨碍外国投资者的一个因素。并在文章最末提到：“外国银行家和投资人现在可以期待今后在土耳其再不用快速心算一串串数不清的零了”。由此可见，土耳其的外国投资环境将变得更好。
参考译文
土耳其加入欧盟的申请将于12月17日在欧盟部长会议上进行表决，围绕该申请的一些顾虑就是经济问题，尤其是该国的相对贫困问题。其人均GDP还不足2004年之前欧盟15国人均GDP的三分之一。但是和2004年5月1日加入欧盟的十个新成员国之一（拉脱维亚）相比，土耳其差得并不算太远，而和本周刚刚完成加入欧盟的谈判，并将在2007年1月获得完全成员地位的两个国家，保加利亚和罗马尼亚相比则相差无几。
不但如此，用经济合作和发展组织秘书长唐纳德·约翰斯顿的话来说，该国最近的经济发展“十分惊人”。本年度第二季度的GDP比去年增长了13.4%，这样的增长速度是任何欧盟成员国都无法匹敌的。土耳其的通货膨胀率最近刚从1972年以来首次跌进各位数，本周该国刚刚同国际货币基金组织达成一项新的为期三年，总额100亿美元的经济项目协议，按照国际货币基金执行总裁罗德里戈·莱托的说法，这一项目将会“帮助土耳其…把通货膨胀率降到欧盟水平，并且增加其经济弹性。”
历史上该国经济并没有很强的韧性。近期如2001年，它的GDP下降超过7%。而1994年，下降超过5%，1999年仅比5%略低。的确，在整个1990年代，该国的经济就好像一次猛烈的心脏病发作的心电图记录那样来回摆动。这种不规律性是导致该国很难吸引其急需的外国直接投资的主要原因之一（另外还有繁琐的公事程序和腐败）。现在这类投资总额（作为GDP的一个百分点）比1980年代的时候还要低，而每年的外资流入量很少能够达到10亿美元（爱尔兰仅2003年一年就吸引外资超过250亿美元，而巴西从1998年到2000年每年的外资流入量都达到了这个数字。）
从2005年1月1日起，一个妨碍外国投资者的因素将会消失。到那一天，土耳其将取消其公民自称为百万富翁的权利。里拉的面值里将减少六个零；这样，当地货币的每个货币单位将和现在的1百万里拉等值---也就是0.53欧元（0.70美元）左右。商品将在一整年内用新旧里拉同时定价，但外国银行家和投资人现在可以期待今后在土耳其再不用快速心算一串串数不清的零了。
考研英语阅读理解精读100篇unit2

Unit 2 

Charlie Bell became chief executive of McDonald's in April. Within a month doctors told him that he had colorectal cancer. After stockmarket hours on November 22nd, the fast-food firm said he had resigned; it would need a third boss in under a year. Yet when the market opened, its share price barely dipped then edged higher. After all, McDonald's had, again, shown how to act swiftly and decisively in appointing a new boss.
Mr Bell himself got the top job when Jim Cantalupo died of a heart attack hours before he was due to address a convention of McDonald's franchisees. Mr Cantalupo was a McDonald's veteran brought out of retirement in January 2003 to help remodel the firm after sales began falling because of dirty restaurants, indifferent service and growing concern about junk food. He devised a recovery plan, backed by massive marketing, and promoted Mr Bell to chief operating officer. When Mr Cantalupo died, a rapidly convened board confirmed Mr Bell, a 44-year-old Australian already widely seen as his heir apparent, in the top job. The convention got its promised chief executive's address, from the firm's first non-American leader.

Yet within weeks executives had to think about what to do if Mr Bell became too ill to continue. Perhaps Mr Bell had the same thing on his mind: he usually introduced Jim Skinner, the 60-year-old vice-chairman, to visitors as the "steady hand at the wheel". Now Mr Skinner (pictured), an expert on the firm's overseas operations, becomes chief executive, and Mike Roberts, head of its American operations, joins the board as chief operating officer.

Is Mr Roberts now the new heir apparent? Maybe. McDonald's has brought in supposedly healthier choices such as salads and toasted sandwiches worldwide and, instead of relying for most of its growth on opening new restaurants, has turned to upgrading its 31,000 existing ones. America has done best at this; under Mr Roberts, like-for-like sales there were up by 7.5% in October on a year earlier.

The new team's task is to keep the revitalisation plan on course, especially overseas, where some American brands are said to face political hostility from consumers. This is a big challenge. Is an in-house succession the best way to tackle it? Mr Skinner and Mr Roberts are both company veterans, having joined in the 1970s. Some recent academic studies find that the planned succession of a new boss groomed from within, such as Mr Bell and now (arguably) Mr Roberts, produces better results than looking hastily, or outside, for one. McDonald's smooth handling of its serial misfortunes at the top certainly seems to prove the point. Even so, everyone at McDonald's must be hoping that it will be a long time before the firm faces yet another such emergency.

Economist; 11/27/2004, Vol. 373 Issue 8403, p64-65, 2p, 1c

注（1）：本文选自Economist；11/27/2004, p64-65, 2p, 1c；
注（2）：本文习题命题模仿2000年真题text 1第1题（1），1995年真题text 1第2题（2），2002年真题text 2第2题（3），1998年真题text 2第2题（4）和1999年真题text 1第4题（5）；
1.       The main reason for the constant change at the top of McDonald is ________. 

[A] the board’s interference

[B] the falling sales

[C] the health problems of the chief executives

[D] the constant change of its share price

2.       Which of the following was NOT a cause of the falling sales of McDonald?

[A] the change of the chief executive

[B] people’s concern about junk food

[C] dirty restaurant

[D] indifferent service

3.       The phrase “heir apparent” (Line 7, Paragraph 2) in the article most probably 

means____________.  

[A] someone who has the same ideas, aims and style with a person

[B] someone who has the unalienable right to receive the family title

[C] someone who is appointed as a heir of a person

[D] someone who is likely to take over a person’s position when that person leaves

4.       In terms of succession at the top, McDonald_________.

[A] has had to made rather hasty decisions

[B] prefers to appoint a new boss from within

[C] acts in a quick and unreasonable way 

[D] surprises all the people with its decisions

5.       Toward McDonald’s reaction to emergencies at the top, the writer’s attitude can be said 

to be___________. 

[A] indifferent

[B] doubtful

[C] objective

[D] praiseful

答案：C A D B D

篇章剖析
本篇文章介绍了麦当劳高层人事接替的情况，是一篇说明文。第一段介绍了查里·贝尔辞去麦当劳首席执行官一事；第二段追溯了他如何成为麦当劳首席执行官；第三段介绍了麦当劳现任首席执行官如何接任；第四段分析了下一位可能的继任者；最后一段对这种内部接任的方式进行了总结。
词汇注释
colorectal: [] adj. [解]结肠直肠的
franchisee: [] n. 总经销商, 有代销权的人或团体
veteran: [] n. 老资格；老手
heirs apparent: 有继承权的人；公认的继任者
like-for-like: 同类的
revitalization: [] n. 振兴；复兴
in-house: [] adj. 内部的
groom: [] v. 培训；培植
难句突破
1. Mr Cantalupo was a McDonald's veteran brought out of retirement in January 2003 to help remodel the firm after sales began falling because of dirty restaurants, indifferent service and growing concern about junk food.

主体句式：Mr. Canalupo was a McDonald’s veteran.

结构分析：这是一个复杂句，表语veteran后面有一个过去分词短语brought out of retirement作后置定语，这个定语还带有自己的两个状语，一个是不定式短语做目的状语，另外一个是after引导的时间状语从句，这个从句中还有一个because of引导的原因状语。bring sb. out of retirement的意思是“将某人从退休状态召回”。
句子译文：坎塔卢波在麦当劳工作过多年，在公司因为餐厅环境不卫生，服务态度差，以及人们对“垃圾食品”的不断质疑导致业绩下降之后，2003年他被从退休中召回，帮助公司进行改革。
2. Even so, everyone at McDonald's must be hoping that it will be a long time before the firm faces yet another such emergency.

主体句式：everyone must be hoping that…

结构分析：这个句子中包含一个由that引导的宾语从句和由before引导的状语从句。这个句子的难点在before这个词的理解上。通常before可以译为“才”。例如：It had been two days before I realized the problem. （过了两天我才意识到这个问题。）
句子译文：即便如此，相信麦当劳上下一定还是希望不要在近期内又面临这类紧急情况。
题目分析
1. 答案为C，属事实细节题。文章第一段提及Charlie Bell辞职的原因是他患了直肠癌；接着又在第二段说他升任总裁是因为他的前任在准备讲演时因为心脏病突发而去世。这样，麦当劳在一年内就不得不寻找第三位总裁。可见麦当劳高层频繁更换人员的原因是这些总裁的健康问题。
2. 答案为A，属事实细节题。可参见文章第二段第四行because of…后面的部分。
3. 答案为D，属猜词题。根据上下文，Charlie Bell被Jim Cantalupo提拔为首席运营官之后，被广泛视为是他的heir apparent，接着作者在第四段发问，现任的首席运营官会不会是现任总裁的heir apparent呢？显然，这个词组的意思应该是“接替某人职位”的人。
4. 答案为B，属推理判断题。根据文章，三位总裁都是在麦当劳内部管理人才，而且下一位继任者也已经内定，这种内部选定继任者的办法帮助麦当劳在一连串不幸事件发生后能够平稳交接。可见麦当劳更愿意从内部任命新老板。
5. 答案为D，属推理判断题。作者在第一段末评论麦当劳的行动时说道：“麦当劳又一次显示了其在任命新老板方面的快速决断能力。”在文末对麦当劳的内部接任方式进行总结时，作者引用某些学术研究的成果，认为这种方式的效果更好，并以“麦当劳在高层发生一连串的不幸事件后能够平静地交接似乎清楚地证明了这一点。”来加以说明。可见作者对于麦当劳处理类似发生在高层的突发事件的反应是持赞扬态度的。
参考译文
查里·贝尔四月成为麦当劳的首席执行官。不到一个月，医生就告诉他他患了直肠癌。在11月22日的股市交易结束之后，这家快餐公司宣布他已经辞职；该公司将需要这一年内的第三位老板。然而，当股市开张时，该公司的股价只是略有下降，很快又再次上扬。麦当劳又一次显示了其在任命新老板方面的快速决断能力。
贝尔先生本人是在吉姆·坎塔卢波（Jim Cantalupo）死于心脏病突发之后得到这一高层职位的。当时坎塔卢波正准备在几个小时之后的麦当劳特许经销商会议上致词。坎塔卢波在麦当劳工作过多年，在公司因为餐厅环境不卫生，服务态度差，以及人们对“垃圾食品”的不断质疑导致业绩下降之后，2003年他被从退休中召回，帮助公司进行改革。他制定了一项在大规模营销基础上的振兴计划，并且将贝尔先生提拔为首席运营官。坎塔卢波先生去世后，董事会很快开会确定任命贝尔先生，这位早就被公认为其继任者的44岁澳大利亚人担任这一首席职位。这次会议从该公司的第一位非美国籍的领导人那里得到了其许诺的公司首席执行官的讲演。
然而，在短短几周之内，公司高层就不得不思考如果贝尔先生病重无法继续工作该怎么办的问题。也许贝尔先生也在考虑同样的问题：他向来访者介绍60岁的副总裁吉姆·斯金纳时总是称他为“掌舵高手”。现在公司海外经营专家斯金纳先生（见图）成了公司首席执行官，主管公司美国经营业务的麦克·罗伯茨则加入董事会成为首席运营官。
罗伯茨先生是不是新的继任者呢？也许。麦当劳改变了主要依靠开新店发展企业的方法，而在全球推出了被认为更加健康的食品，比如沙拉和烤三明治，并且开始改进现有的31000家连锁快餐店的经营。美国在这方面做得最好；在罗伯茨先生的努力下，美国麦当劳十月的同类销售额比一年前增长了7%。
新团队的任务就是保持其振兴计划不变，尤其是海外部分，据说在海外某些美国品牌面对着来自消费者的政治敌意。这是一个巨大的挑战。这种内部接任的方式是不是迎接这种挑战的最佳方式呢？斯金纳先生和罗伯茨先生都是1970年代就加入公司的资深管理人员。最近的一些学术研究发现，内定的新老板，比如贝尔先生和现在（还未最终宣布）的罗伯茨先生，按计划接任会比草率任命一个新老板或者从外部聘请新老板效果更好。麦当劳在高层发生一连串的不幸事件后能够平静地交接似乎清楚地证明了这一点。即便如此，相信麦当劳上下一定还是希望不要在近期内又面临这类紧急情况。
考研英语阅读理解精读100篇unit3

Unit 3 

The annual review of American company board practices by Korn/Ferry, a firm of headhunters, is a useful indicator of the health of corporate governance. This year's review, published on November 12th, shows that the Sarbanes-Oxley act, passed in 2002 to try to prevent a repeat of corporate collapses such as Enron's and WorldCom's, has had an impact on the boardroom--albeit at an average implementation cost that Korn/Ferry estimates at $5.1m per firm.
Two years ago, only 41% of American firms said they regularly held meetings of directors without their chief executive present; this year the figure was 93%. But some things have been surprisingly unaffected by the backlash against corporate scandals. For example, despite a growing feeling that former chief executives should not sit on their company's board, the percentage of American firms where they do has actually edged up, from 23% in 2003 to 25% in 2004.

Also, disappointingly few firms have split the jobs of chairman and chief executive. Another survey of American boards published this week, by A.T. Kearney, a firm of consultants, found that in 2002 14% of the boards of S&P 500 firms had separated the roles, and a further 16% said they planned to do so. But by 2004 only 23% overall had taken the plunge. A survey earlier in the year by consultants at McKinsey found that 70% of American directors and investors supported the idea of splitting the jobs, which is standard practice in Europe.

Another disappointment is the slow progress in abolishing "staggered" boards--ones where only one-third of the directors are up for re-election each year, to three-year terms. Invented as a defence against takeover, such boards, according to a new Harvard Law School study by Lucian Bebchuk and Alma Cohen, are unambiguously "associated with an economically significant reduction in firm value".

Despite this, the percentage of S&P 500 firms with staggered boards has fallen only slightly--from 63% in 2001 to 60% in 2003, according to the Investor Responsibility Research Centre. And many of those firms that have been forced by shareholders to abolish the system are doing so only slowly. Merck, a pharmaceutical company in trouble over the possible side-effects of its arthritis drug Vioxx, is allowing its directors to run their full term before introducing a system in which they are all re-elected (or otherwise) annually. Other companies' staggered boards are entrenched in their corporate charters, which cannot be amended by a shareholders' vote. Anyone who expected the scandals of 2001 to bring about rapid change in the balance of power between managers and owners was, at best, naive.

注（1）：本文选自Economist；11/13/2004,  p67-67, 4/9p；
注（2）：本文习题命题模仿1998年真题text 1第2题（1），2002年真题text 2第2题（2），text 5第3题（3），2004年真题text 4第2题（4）和1999年真题text 1第4题（5）；
1.       The Sarbanes-Oxley act is most probably about_________. 

[A] corporate scandal

[B] corporate management

[C] corporate cost

[D] corporate governance

2.       The word “backlash” (Line 3, Paragraph 2) most probably means_________. 

[A] a violent force

[B] a strong impetus 

[C] a firm measure

[D] a strong negative reaction

3.       According to the text, separating the roles between chairman and chief executive 

is________.

[A] a common practice in American companies

[B] what many European companies do

[C] a must to keep the health of a company

[D] not a popular idea among American entrepreneurs

4.       We learn from the text that a "staggered" board________. 

[A] is adverse to the increment of firm value

[B] gives its board members too much power

[C] has been abolished by most American companies

[D] can be voted down by shareholders

5.       Toward the board practice of American companies, the writer’s attitude can be said to 

be________. 

[A] biased

[B] pessimistic

[C] objective

[D] critical

答案：D D B A D

篇章剖析
本篇文章是一篇议论文，对美国公司的董事会变化缓慢的情况提出了批评。第一段引用一家猎头公司的年度评论说明一项旨在防止公司财务丑闻的法案已经对美国公司的董事会产生了影响；在第二段作者笔锋一转，说明虽然公司丑闻对于公司董事会的做法产生了一些影响，但仍然有一些方面毫无变化或者变化缓慢。接下来作者分析了几种典型的情况；三段指出了一些公司董事和总裁职务不分的情况；第四断指出一些公司在废除“交错董事任期”的董事会方面进展缓慢；第五段以具体的例子对上述情况加以说明并得出结论：要改变职业经理人和公司所有人之间的权力平衡并非一蹴而就之事。
词汇注释
headhunter: [] n. 用高薪征聘人才者
governance: [] n. 治理；管理
boardroom: [] n. （董事会）会议室
albeit: [] conj. 虽然
backlash: [] n. 激烈反应，激烈反对对一个较早行动的对抗性反应
take the plunge: 冒险，采取断然行动
staggered: [] adj. 交错的
unambiguously: [] adv. 明白地,不含糊地
pharmaceutical: [] adj. 制药的；调药的
arthritis: [] n. 关节炎
entrench: [] v. 保护
amend: [] v. 改正；修改
难句突破
Merck, a pharmaceutical company in trouble over the possible side-effects of its arthritis drug Vioxx, is allowing its directors to run their full term before introducing a system in which they are all re-elected (or otherwise) annually.

主体句式：Merck is allowing its directors to run their full term

结构分析：这是一个复杂句，句子的主语之后又一个较长的同位语短语，句子中还有一个before引导的状语，在这个状语中含有一个which引导的定语从句。before在这种情况下通常译为“才”。
句子译文：因为所生产的关节炎药物Vioxx的潜在副作用而陷入困境的默克制药公司现在允许其董事任期直到届满，然后才会引入一个每年将所有人重新选任一遍（或者别的方法）的制度。
题目分析
1. 答案为D，属推理判断题。根据第一段，the Sarbanes-Oxley act的通过是为了防止再次出现类似安然公司或者世通公司垮掉的情况。而文章又提到在公司治理方面，该法案已经显现出了一定的影响力。可见，该法案是有关公司治理的法案。
2. 答案为D，属猜词题。首先确定“backlash”与反对公司丑闻有关，其次，下文对backlash给了一个具体的例子，就是“越来越多的人认为前任总裁不应该继续留在董事会里”，显然这符合选项D中的“强烈的对抗性/否定性反应”。
3. 答案为B，属事实细节题。根据文章第三段最后一句，将董事长和总裁的职务区分开来是“欧洲的行业惯例”。
4. 答案为A，属事实细节题。根据文章第四段的一份最新哈佛商学院研究，“staggered board”是为了防止公司权力被夺取而被发明的，但它显然“和公司价值的显著下降有关”。可见这种交错董事任期的董事会不利于公司价值的增长。
5. 答案为D，属推理判断题。本文指出虽然出台了防止公司丑闻的法案，但美国公司的董事会变化依然缓慢。继而分析了几种令人失望的情况。在文章最末作者指出，人们不应该天真的相信2001年的丑闻会迅速改变职业经理人和公司所有人之间的权力平衡。可见作者对美国公司的董事会持批评的态度。
参考译文
猎头公司“光辉国际”（Korn/Ferry）推出的美国公司董事会惯例年度评论是了解公司治理状况的有用指南。今年11月12日发表的年度评论表明，2002年通过的旨在防止类似安然公司和世通公司垮掉的事情再次发生的《萨班-奥西利法案》对董事会已经产生了一定的影响---虽然按照“光辉国际”的估计，实施该法案的平均成本是每家公司510万美元。
两年前，只有41%的美国公司说他们会在首席执行官不在场的情况下定期举行董事会；今年这一数字达到了93%。不过，令人惊异的是，对公司丑闻的强烈反对并没有影响到某些事情的发展。例如，虽然越来越多的人认为前任总裁不应该继续留在董事会里，但美国公司董事会中前任总裁的比率不降反升了，从2003年的23%上升到了2004年的25%。
另外，将董事长和总裁的职务区分开来的公司很少，这一点令人颇为失望。一家咨询公司“A.T.卡尼”公司在本周发布的另外一份对美国董事会的调查发现，2002年标准普尔500家公司中，有14%的董事会已经进行了职务角色的区分，另有16%的董事会表示计划这么做。可是到2004年，在全部公司中，只有23%的公司采取了行动。同年早些时候麦肯锡公司的咨询师发布的一项调查发现，70%的美国董事和投资人支持职务区分的想法，而这在欧洲早已是行业惯例了。
另一件令人失望的事情就是在废除“交错董事任期”的董事会方面进展缓慢---所谓交错董事任期，就是每年只改选三分之一的董事，而每一届董事的任期是三年。依据吕西安·贝布查克和阿尔玛·科恩的一份最新哈佛商学院研究，这种为了防止公司权力被夺取而发明的董事会显然“和公司价值的显著下降有关”。
尽管如此，标准普尔500公司中有交错董事任期的董事会比例却只有轻微下降---“投资人责任研究中心”的数据显示，该比率仅从2001年的63%下降到了2003年的60%。许多被股东施压要求放弃这一制度的公司现在只是缓慢地着手这一工作。因为所生产的关节炎药物Vioxx的潜在副作用而陷入困境的默克制药公司现在允许其董事任期直到届满，然后才会引入一个每年将所有人重新选任一遍（或者别的方法）的制度。其他公司交错董事任期的董事会是由公司规章确立的，不能由股东投票改变。如果有人期望2001年的丑闻会迅速改变职业经理人和公司所有人之间的权力平衡的话，那么他未免太天真了
考研英语阅读理解精读100篇unit4

Unit 4 

Most economists hate gold. Not, you understand, that they would turn up their noses at a bar or two. But they find the reverence in which many hold the metal almost irrational. That it was used as money for millennia is irrelevant: it isn't any more. Modern money takes the form of paper or, more often, electronic data. To economists, gold is now just another commodity.
So why is its price soaring? Over the past week, this has topped $450 a troy ounce, up by 9% since the beginning of the year and 77% since April 2001. Ah, comes the reply, gold transactions are denominated in dollars, and the rise in the price simply reflects the dollar's fall in terms of other currencies, especially the euro, against which it hit a new low this week. Expressed in euros, the gold price has moved much less. However, there is no iron link, as it were, between the value of the dollar and the value of gold. A rising price of gold, like that of anything else, can reflect an increase in demand as well as a depreciation of its unit of account.

This is where gold bulls come in. The fall in the dollar is important, but mainly because as a store of value the dollar stinks. With a few longish rallies, the greenback has been on a downward trend since it came off the gold standard in 1971. Now it is suffering one of its sharper declines. At the margin, extra demand has come from those who think dollars--indeed any money backed by nothing more than promises to keep inflation low--a decidedly risky investment, mainly because America, with the world's reserve currency, has been able to create and borrow so many of them. The least painful way of repaying those dollars is to make them worth less.

The striking exception to this extra demand comes from central banks, which would like to sell some of the gold they already have. As a legacy of the days when their currencies were backed by the metal, central banks still hold one-fifth of the world's gold. Last month the Bank of France said it would sell 500 tonnes in coming years. But big sales by central banks can cause the price to plunge--as when the Bank of England sold 395 tonnes between 1999 and 2002. The result was an agreement between central banks to co-ordinate and limit future sales.

If the price of gold marches higher, this agreement will presumably be ripped up, although a dollar crisis might make central banks think twice about switching into paper money. Will the overhang of central-bank gold drag the price down again? Not necessarily. As James Grant, gold bug and publisher of Grant's Interest Rate Observer, a newsletter, points out, in recent years the huge glut of government debt has not stopped a sharp rise in its price.

注（1）：本文选自Economist；12/4/2004, p76-76, 1/3p； 

注（2）：本文习题命题模仿2000年真题text 4第3题（1），2001年真题text 4第2题（2），text 1第2题（3），2002年真题text 2第2题（4）和text 5第3题（5）；
1.       In economists’ eyes, gold is something__________. 

[A] they look down upon

[B] that can be exchanged in the market

[C] worth people’s reverence

[D] that should be replaced by other forms of money

2.       According to the author, one of the reasons for the rising of gold price is___________. 
[A] the increasing demand for gold
[B] the depreciation of the euro
[C] the link between the dollar and gold

[D] the increment of the value of the dollar 

3.       We can infer from the third paragraph that_________. 
[A] the decline of the dollar is inevitable
[B] America benefits from the depreciation of the dollar
[C] the depreciation of the dollar is good news to other currencies

[D] investment in the dollar yields more returns than that in gold

4.       The phrase “ripped up” (Line 1, Paragraph 5) most probably means__________. 

[A] strengthened 

[B] broadened 

[C] renegotiated

[D] torn up

5.       According to the passage, the rise of gold price__________.  
[A] will not last long
[B] will attract some central banks to sell gold
[C] will impel central banks to switch into paper money

[D] will lead to a dollar crisis 

答案：B A B D B

篇章剖析
本篇文章采用了提出问题-分析问题的模式，分析了金价上涨，美元下跌的经济态势。第一段说明黄金是一种商品；第二段分析了金价上涨的原因：金价的上涨反映了需求的增加以及计价单位的贬值；第三段美元下跌的原因；第四段分析了各国央行的反应；最后一段对金价继续上扬可能带来的影响进行了分析。
词汇注释
reverence: [] n. 崇敬，尊敬
millennia: [] n. millennium的复数
soaring: [] adj. 剧增的；上升到明显高于正常水平的
troy ounce: n. 金衡制盎司, 金衡
denominate: [] v. 以…面值发行以某种给定的货币单位发行或表达
euro: [] n. 欧元
depreciation: [] n. 跌价；贬值
bull: [] n. 买空；（做）多头
stink: [] v. 发出臭味
longish: [] adj. 相当长的
rally: [] n. （行情、价格等）跌后复升
greenback: [] n. 美钞
tonne: [] n. 公吨(=1,000公斤或称 metric ton)

rip up: 斯毁；取消
overhang: [] n. 突出量
难句突破
At the margin, extra demand has come from those who think dollars--indeed any money backed by nothing more than promises to keep inflation low--a decidedly risky investment, mainly because America, with the world's reserve currency, has been able to create and borrow so many of them. 

主体句式：extra demand has come

结构分析：本句是一个复杂句，from这个介词所引导的状语中包含一个who 引导的定语从句，一个插入语，主句之后是一个because引导的原因状语从句。nothing more than的意思是“只不过，仅仅”。
句子译文：在此下跌情况下，导致金价上扬的额外需求来自于那些认为美元---或者任何一种依靠抑制通胀的许诺来支撑的货币—无疑是一种高风险投资的人，主要因为美国拥有美元这一世界储备货币，而且一直能够制造和借来很多美元。
题目分析
1. 答案为B，属事实细节题。文章第一段提到经济学家不喜欢黄金的原因是人们对黄金缺乏理性的崇拜。在他们看来，黄金只不过是一种商品，也就是可以在市场交换的东西。
2. 答案为A，属事实细节题。文章第二段分析了金价上涨的两个主要原因：金价用美元表示，而美元相对于其他货币贬值了；市场对黄金需求的增加。
3. 答案为B，属推理判断题。根据文章第三段，美国因为拥有世界储备货币，而且一直能够制造和借来很多美元。要偿还这些美元，最不费力的方式就是让美元贬值。可见，美元贬值对美国是有益无害的事情。
4. 答案为D，属猜词题。根据文章第四段，为了防止出现一国央行大量抛售黄金导致金价下跌的情况，各国央行达成协议，协调和限制今后的黄金销售。如果金价持续上涨，很可能一些央行会再次抛售黄金（文中提到法国央行出售黄金的决定），那样各国央行之间的协议就会被破坏。因此，根据上下文，“ripped up”最有可能的意思就是“torn up”（撕毁）。
5. 答案为B，属推理判断题。根据文章第四段，在许多买家大量买入黄金的同时，许多央行却打算将他们囤积的黄金出售。文章第五段说，如果金价继续上扬，各国央行之间的“限制和协调未来黄金销售”的协议将会被打破，也就是说金价的上涨会吸引各国央行出售黄金。 

参考译文
大多数经济学家都讨厌黄金。要知道，这可不是因为他们瞧不起一两块金条，而是因为他们发现许多人对这种金属的崇敬几乎到了毫无理性的地步。这与它被用作千禧年的货币并无关系：那已经是昨日黄花了。现代货币采用的是纸币的形式，或者，更多时候，采用的是电子数据的形式。对经济学家来说，黄金现在只是另外一种商品。
那么为什么金价会大幅上涨呢？在过去一周里，每金衡（1金衡约31.1025克）的价格达到了450美元，比年初上涨了9%，而比2001年4月则上涨了77%。啊，答案来了，黄金交易是以美元来计数的，价格的上涨只是反映了美元对其他货币的比价，尤其是对欧元比价的下跌，而本周美元对欧元的比价又创新低。用欧元计数的话，金价的波动要小得多。然而，美元价值和黄金价值之间似乎并没有固定联系。像其他任何东西一样，金价的上涨反映了需求的增加以及计价单位的贬值。
因此就出现了黄金买空。美元的下跌之所以重要主要是因为作为一种价值储存手段美钞可谓臭名昭著。自从1971年美元脱离金本位，就一直处于跌势，其间只有为数不多的几次跌后复升。这一次下跌的跌幅更大。在此下跌情况下，导致金价上扬的额外需求来自于那些认为美元---或者任何一种依靠抑制通胀的许诺来支撑的货币—无疑是一种高风险投资的人，主要因为美国拥有美元这一世界储备货币，而且一直能够制造和借来很多美元。要偿还这些美元，最不费力的方式就是让美元贬值。
各国中央银行的反应跟这种额外需求正好形成鲜明对照。这些银行都想把手里的黄金卖掉一些。以前各国货币都依靠这种金属，历史继承的结果就是各国中央银行的黄金储量是世界黄金总量的五分之一。上个月，法国中央银行宣布即将在未来几年出售500吨黄金。不过中央银行大量出售黄金会导致金价猛跌--- 1999年至2002年之间英格兰银行出售395吨黄金时就发生过这种情况。其结果是各国央行达成协议，协调限制今后的销售。
如果金价继续上扬，这个协议就会被破坏，虽然一场美元危机会让各国央行在转向纸币经营问题上慎之又慎。那么央行所储备的大量黄金是否会将金价再次拉下来呢？那倒不一定。正如黄金迷，时事通讯《格兰特利率观察家》的出版人詹姆斯·格兰特所指出的，最近几年政府的巨额债务并未阻止金价的大幅上涨。
考研英语阅读理解精读100篇unit5

Unit 5

Open-outcry trading is supposed to be a quaint, outdated practice, rapidly being replaced by sleeker, cheaper electronic systems. Try telling that to the New York Mercantile Exchange (NYMEX), the world's largest commodities exchange. On November 1st the NYMEX opened an open-outcry pit in Dublin to handle Brent crude futures, the benchmark contract for pricing two-thirds of the world's oil.
The NYMEX is trying to snatch liquidity from London's International Petroleum Exchange (IPE), which trades the most Brent contracts; the New York exchange has hitherto concentrated on West Texas Intermediate, an American benchmark grade. The new pit is a response to the IPE's efforts to modernise. On the same day as NYMEX traders started shouting Brent prices in Dublin, the IPE did away with its morning open-outcry session: now such trades must be electronic, or done in the pit after lunch.

The New York exchange claims that customers, such as hedge funds or energy companies, prefer open-outcry because it allows for more liquidity. Although most other exchanges are heading in the opposite direction, in commodity markets such as the NYMEX, pressure from "locals"--self-employed traders--is helping to prop up open-outcry, although some reckon that customers pay up to five times as much as with electronic systems. Even the IPE has no plans to abolish its floor. Only last month it signed a lease, lasting until 2011, for its trading floor in London.

Dublin's new pit is "showing promise", says Rob Laughlin, a trader with Man Financial, despite a few technical glitches. On its first day it handled 5,726 lots of Brent (each lot, or contract, is 1,000 barrels), over a third of the volume in the IPE's new morning electronic session. By the year's end, predicts Mr Laughlin, it should be clear whether the venture will be viable. It would stand a better chance if it moved to London. It may yet: it started in Ireland because regulatory approval could be obtained faster there than in Britain.

Ultimately, having both exchanges offering similar contracts will be unsustainable. Stealing liquidity from an established market leader, as the NYMEX is trying to do, is a hard task. Eurex, Europe's largest futures exchange, set up shop in Chicago this year, intending to grab American Treasury-bond contracts from the Chicago Board of Trade. It has made little headway. And the NYMEX has dabbled in Brent contracts before, without success.

Given the importance of liquidity in exchanges, why do the IPE and the NYMEX not band together? There have been merger talks before, and something might yet happen. Some say that the freewheeling NYMEX and the more staid IPE could never mix. For now, in any case, the two exchanges will slug it out--across the Irish Sea as well as across the Atlantic.

 

注（1）：本文选自Economist；11/6/2004, p78-78, 1/2p, 1c；
注（2）：本文习题命题模仿2001年真题text 2第1题（1），text 4第2题（2），text 1第2题（4），2002年真题text 2第2题（3），text 3第4题（5）；
1.       The NYMEX and IPE are___________. 

[A] both using open outcry trading as a major trading form  

[B] partners that are reciprocal in their business activities

[C] rivals that are competing in the oil trading market

[D] both taking efforts to modernize their trading practice

2.       According to the author, one of the reasons that the NYMEX takes open-outcry trading 
is__________. 
[A] the preference of its customers
[B] the standard practice of energy exchange
[C] the long tradition of this trading practice

[D] the nostalgic feeling it arouses 

3.       The word “glitches” (Line 2, Paragraph 4) most probably means_________.  

[A] backwardness

[B] disappointments

[C] engineers

[D] problems

4.       From Paragraph 4 we can infer that_________. 
[A] trading volume in the IPE's new morning electronic session is falling
[B] London is a better business location for energy exchanges than Dublin
[C] Britain’s regulators are less efficient than those of Ireland

[D] the Dublin pit of the NYMEX will be more prosperous next year

5.       We can draw a conclusion from the text that___________. 
[A] it’s very unlikely that the NYMEX and the IPE could combine their businesses
[B] the NYMEX will fail in Ireland as many precedents have shown
[C] the two energy exchanges will figure out a way to cooperate with each other

[D] the market environment for both energy exchanges is getting better 

答案：C A D B A

篇章剖析
本文介绍了两家能源交易所之间的商战。第一段介绍了纽约商品交易所在都柏林的交易所采用公开叫价的交易形式。第二段介绍了纽约商品交易所和伦敦国际石油交易所之间的竞争。第三段介绍了纽约商品交易所采用公开叫价交易方式的原因。第四段介绍了目前都柏林这个交易所的经营情况。第五段对这种能源交易所之间的竞争前景进行了简单的分析。最后一段总结全文，两个交易所都会在这张商战中放手一搏。
词汇注释
open-outcry: n. 公开叫价
quaint: [] adj. 古怪有趣的
sleek: [] adj. 时髦的
pit: [] n. 期货交易场
Brent crude futures：北海布伦特原油期货
benchmark: [] n. 基准点；可依照做出衡量和判断的标准
liquidity: [] n. 流动资金；资产折现力
West Texas Intermediate: 西德州轻质原油
hedge fund: 对冲基金
prop up: v. 支撑, 支持
glitch: [] n. 小故障，小毛病
lot: [] n. 一批（在一起）拍卖的物品
viable: [] adj. 可行的；可实施的
unsustainable: [] adj. 无法维持的
treasury-bond: 国库券
headway: [] n. 前进；进展
dabble: [] v. (作为兴趣或爱好)随便搞搞, 涉猎
难句突破
Although most other exchanges are heading in the opposite direction, in commodity markets such as the NYMEX, pressure from "locals"--self-employed traders--is helping to prop up open-outcry, although some reckon that customers pay up to five times as much as with electronic systems.

主体句式：pressure …is helping to prop up open-outcry

结构分析：这是一个复杂句，包含两个由although引导的让步状语从句。prop up的意思是“支持”。
句子译文：虽然其它绝大多数交易所正在取消这种公开叫价的交易方式，在纽约商品交易所这类商品市场里，来自“本地人”---那些自营商---的压力却起到了支持公开叫价的作用，尽管一些人估计客户为此要支付五倍于使用电子系统的费用
题目分析
1. 答案为C，属事实细节题。根据文章第二段“纽约商品交易所试图抢走IPE的交易量”和“新开张的交易所回应了伦敦国际石油交易所进行的现代化努力”两句来看，这两家交易所是竞争石油交易的对手。
2. 答案为A，属事实细节题。根据文章第三段，NYMEX声称“对冲基金或者能源公司这样的客户更喜欢公开叫价”可知，顾客的喜好是他们考虑采用公开叫价方式的原因之一。
3. 答案为D，属猜词题。根据文章第四段，除了一些技术上的“glitches”之外，新交易所让人们看到了希望。显然，glitches应该是不利的方面，四个选项中，只有B的意义最符合上下文。
4. 答案为B，属推理判断题。根据文章第四段，如果NYMEX把在都柏林的交易所开在伦敦的话，“it would stand a better chance”。可见，伦敦是能源交易所更好的业务场所。
5. 答案为A，属推理判断题。根据文章最后两段，两家能源交易所因为交易内容相似，且两家都是著名交易所，这种市场局面最终将难以维系。作者提出了两家能否联手的问题，但两个交易所一静一动，很难合并。
参考译文
公开叫价交易被认为是一种奇怪而过时的做法，应该很快被更加时髦，更加廉价的电子系统所取代。但纽约商品交易所（NYMEX）这个世界上最大的商品交易所却反其道而行。11月1日，纽约商品交易所在都柏林的期货交易所开张，并以公开叫价的方式交易作为世界三分之二原油的定价基准的布伦特原油期货。
大部分布伦特合约都是在伦敦国际石油交易所（IPE）进行交易的；纽约商品交易所试图抢走IPE的交易量；因此纽约交易所把注意力都集中在了西德州轻质原油这个美国交易基准上。新开张的交易所回应了伦敦国际石油交易所进行的现代化努力。同一天，当纽约商品交易所的交易员开始在都柏林高喊布伦特原油期货价格的时候，伦敦国际石油交易所废除了上午的公开叫价交易：现在这类的交易都必须实行电子化，或者在午饭之后才能在交易所进行。
纽约商品交易所声称对冲基金或者能源公司这样的客户更喜欢公开叫价，因为这种方式照顾到了更多的流动资金。虽然其它绝大多数交易所正在取消这种公开叫价的交易方式，在纽约商品交易所这类商品市场里，来自“本地人”---那些自营商---的压力却起到了支持公开叫价的作用，尽管一些人估计客户为此要支付五倍于使用电子系统的费用。甚至伦敦国际原油交易所也没有打算放弃其交易厅。上个月他们才刚刚签署一项租约，将其在伦敦交易大厅的租期延续到2011年。
曼氏金融公司的交易员罗布·拉夫林说，虽然出现了一些技术故障，但都柏林的这个新建交易所正在“崭露头角”。在开张当天布伦特原油的成交量就达到了5726手（每一手就是一份合约，相当于1000桶），是伦敦国际原油交易所当天上午更换电子交易成交量的三分之一。拉夫林预测，这一次投机是否可行到了年底就会见分晓。如果交易所迁到伦敦，则成功的机会更大。也许最终它会被迁到伦敦：不过它在爱尔兰开张就是因为那里比伦敦能更快获得监管部门的批准。
两家交易所交易相似期货合同的局面最终将难以维系。纽约商品交易所想和一个老牌市场领袖叫板谈何容易。欧洲最大的期货交易所欧洲期货交易所（Eurex）今年在芝加哥设立分店，打算从芝加哥期货交易所的美国国库卷交易里分一杯羹，但进展不大。纽约商品交易所以前也曾涉足布伦特原油期货交易，但无功而返。
考虑到交易中资金折现力的重要性，为什么伦敦国际原油交易所和纽约商品交易所不联合起来呢？以前有过合并商谈，不过也许时机还没到。有人说纽约商品交易所和伦敦国际原油交易所一动一静，水火不容。现在，无论如何，这两家交易所都要放手一搏---战场横跨爱尔兰海洋和大西洋。
考研英语阅读理解精读100篇unit6

Unit 6 

Thanks to slumping markets, investment banks are shedding many of their highly-paid traders. When markets recover, the banks might be tempted to replace them with rather cheaper talent. One alternative has been around for a while but has yet to catch on: autonomous trading agents-computers programmed to act like the human version without such pesky costs as holidays, lunch breaks or bonuses. Program trading has, of course, been done before; some blamed the 1987 stockmarket crash on computers instructed with simple decision-making rules. But robots can be smarter than that.
Dave Cliff, a researcher at Hewlett-Packard Laboratories in Bristol, England, has been creating trading robots for seven years. In computer simulations he lets them evolve "genetically", and so allows them to adapt and fit models of real-world financial markets. His experiments have suggested that a redesign of some markets could lead to greater efficiency. Last year, a research group at IBM showed that Mr Cliff's artificial traders could consistently beat the human variety, in various kinds of market. Nearly all take the shape of an auction. One well-known type is the English auction, familiar to patrons of the salesrooms of Christie's and Sotheby's, where sellers keep mum on their offer price, and buyers increase their bids by stages until only one remains.

At the other extreme is the Dutch auction, familiar to 17th-century tulip-traders in the Netherlands as well as to bidders for American Treasury bonds. Here, buyers remain silent, and a seller reduces his price until it is accepted. Most markets for shares, commodities, foreign exchange and derivatives are a hybrid of these two types: buyers and sellers can announce their bid or offer prices at any time, and deals are constantly being closed, a so-called "continuous double auction".

Mr Cliff's novel idea was to apply his evolutionary computer programs to marketplaces themselves. Why not, he thought, try and see what types of auction would let traders converge most quickly towards an equilibrium price? The results were surprising. In his models, auctions that let buyers and sellers bid at any time like most of today's financial exchanges were less efficient than ones that required relatively more bids from either buyers or sellers. These "evolved auctions" also withstood big market shocks, such as crashes and panics, better than today's real-world versions. Mr Cliff's most recent results, which will be presented in Sydney, Australia, on December 10th, show that the best type of auction for any market depends crucially on even slight differences in the number of buyers and sellers.

Bank of America has been investigating these new auctions, along with robotic traders, for possible use in electronic exchanges. The hope is that today's financial auctions and online marketplaces might work better by becoming more like their English and Dutch forebears. But what to call such multi-ethnic hybrids? Here's introducing the "Cliffhanger". 

注（1）：本文选自Economist；11/30/2002, p65, 1/2p, 1c；
注（2）：本文习题命题模仿2000年真题text 3第1题（1），text 4第3题（2），2004年真题text 4第1题，2001年真题text 1第2题（4），1999年真题text 1第4题（5）；
1.       The passage is mainly__________.

[A] a review of two kinds of auctions

[B] an introduction of trading robots

[C] a survey of the trading market

[D] about trading alternatives

2.       Which of the following is true according to the text?

[A] David’s robot traders have now been used in real-world markets. 

[B] Robot traders can evolve like creatures.

[C] There is room for improvement in efficiency in trading markets.

[D] The English auction is the most popular trading form.

3.       If you were trading American Treasury bonds, you would most likely take the trading 
form of ___________.  
[A] the English auction
[B] the continuous double auction
[C] the Dutch auction

[D] the evolved auction

4.       We can infer from the text that______________. 
[A] existing auctions can not withstand market shocks
[B] the Dutch auction is better than the continuous double auction
[C] it’s hard for traders to reach an equilibrium price

[D] the best type of auction takes place when the number of the buyers is equal to that of sellers 

5.       Toward robot traders, the writer’s attitude can be said to be__________. 

[A] biased

[B] objective

[C] pessimistic

[D] optimistic

答案：B C C B D

篇章剖析
本篇文章是一篇说明文，介绍了一种机器人交易员。第一段以银行也需要薪资更低廉的交易员开始引入机器人交易员的话题，说明机器人交易员不同于程序交易，是聪明的交易员。第二段介绍了这种机器人交易员的研发过程和其模拟的一种拍卖形式。第三段介绍了其他拍卖形式。第四段介绍了这种机器人交易员在模拟拍卖中的表现。最后一段对这种机器人交易员的前景及影响作了简单评价。
词汇注释
slump: [] v. (价格等)暴跌, (买卖)清淡; 衰落; 萧条
shed: [] v. 去除除去（不想要或不需要的东西）
pesky: [] adj. 讨厌的，麻烦的
auction: [] n. 拍卖
patron: [] n. 顾客；主顾
salesroom: n. 拍卖场
mum: [] adj. 沉默的；无言的；不说话的
derivative: [] n. 衍生物
hybrid: [] n. 混合物
converge: [] v. 达成一致趋于或达成联合、共同结论或者结果
equilibrium: [] n. 平衡
forebear: [] n. 祖先，祖宗
cliffhang: [] v. 扣人心弦,悬疑
难句突破
In his models, auctions that let buyers and sellers bid at any time like most of today's financial exchanges were less efficient than ones that required relatively more bids from either buyers or sellers.

主体句式：auctions… were less efficient than ones..

结构分析：这是一个复杂句，句子的主语auctions后面有一个that引导的定语从句对它进行修饰，句子主体结构中包含了一个比较级，在比较的对象ones后面也有一个that引导的定语从句对它进行修饰。
句子译文：在他的模式中，现今大多数金融交易中采用的让买卖双方随时竞价的拍卖方式比起那些需要买卖双方提出更多竞价的模式效率要低下。
题目分析
1. 答案为B，属推理判断题。判断文章主旨要从文章整体来把握。文章第一段说明机器人交易员可以替代人类从事交易工作。接下来作者介绍其研发过程及其模拟的几种拍卖形式以及拍卖中的表现，最后一段对这种机器人交易员的前景进行了展望，可见全文都是在介绍机器人交易员。
2. 答案为C，属事实细节题。根据文章第二段第四行，克里夫的研究表明“对某些市场进行重新设计可能会大幅提高效率。”可见交易市场仍然有提高效率的空间。
3. 答案为C，属事实细节题。文章第三段介绍荷兰式拍卖时说它是“今天竞拍美国国库券竞标人所熟悉的一种拍卖形式。”可见，如果交易美国国库券，最有可能采用荷兰式拍卖方式。
4. 答案为B，属推理判断题。根据文章第四段克里夫的研究发现，现今大多数金融交易中所采用让买卖双方随时竞价的拍卖方式比起那些需要买卖双方提出更多竞价的模式效率要低下。可见荷兰式的拍卖方式比连续双向拍卖。这也可以从文章最后一段中所说的“今天的金融拍卖和网上市场如果能更多地模仿它们的英国和荷兰先祖生意也许就会更好”看出。
5. 答案为D，属推理判断题。作者的态度可以通过材料的选择和措辞来判断。在第一段，作者指出，机器人交易员不同于程序交易，是聪明的交易员。接着作者介绍了IBM的一个研究小组的成果：这种机器人交易员可以在各种市场上击败真人交易员。可见，作者对机器人交易员持积极乐观的态度。
参考译文
由于市场不景气，投资银行辞退了许多高薪交易员。等到市场恢复，银行也许会用薪资更低廉的人才来取代他们。现在他们又多了一个选择：电子交易员---经过编程可以像人一样工作，但却不需要休假，午餐休息或者奖金等烦人的支出的电脑。这种电子交易员已经面世一段时间了，但尚未流行起来。以前当然也出现过程序交易；有人就把1987年的股市崩盘归罪于那些只按照简单决策规则指令工作的电脑。不过机器人会聪明得多。
大卫·克利夫是英国布里斯托惠普实验室的研究员，7年来他一直致力于创造交易机器人。在计算机仿真试验中，他使这些机器人“按照遗传方式”不断发展，以使它们适应并且适合真实金融市场的各种模式。他的实验意味着对某些市场进行重新设计可能会大幅提高效率。去年，IBM的一个研究小组证明克利夫的人造交易员可以在各种市场上击败真人交易员。几乎所有这些实验都是以拍卖的形式进行的。其中一种著名的拍卖形式就是英式拍卖，克里斯蒂和索斯比拍卖行的顾客对此都很熟悉，卖家不报出他们的竞拍价，而买家则不断抬高竞拍价铬，直到只有一位买家出价为止。
另外一种形式是荷兰式拍卖，它是十七世纪荷兰的郁金香商人以及今天竞拍美国国库券竞标人所熟悉的一种拍卖形式。这一回，买家不报价，由卖家不断降价，直到有人接受这个价格为止。大部分股票市场，商品市场，外汇市场和衍生产品市场则采用这两种类型的混合模式：买卖双方可以随时宣布他们的竞价或者报价，交易也随时完成，即所谓“连续双向拍卖”。
克利夫的新思路就是把他研制的可以不断升级的电脑程序应用于市场。他想，为什么不试试看哪种拍卖形式能最快地让交易员趋于一个均衡价格呢？其研究结果令人吃惊。在他的模式中，现今大多数金融交易中采用的让买卖双方随时竞价的拍卖方式比起那些需要买卖双方提出更多竞价的模式效率要低下。这些“进化的拍卖方式”还承受住了大的市场震荡，比如崩盘和恐慌，比真人拍卖表现出色。克利夫将于12月10日在澳大利亚悉尼演示他的最新研究成果，这些成果表明买卖双方人数的轻微差异都会对最好的市场拍卖形式产生影响。
美洲银行已经开始研究这些新型拍卖形式以及机器人交易员，看看是否可能在电子交易中使用。今天的金融拍卖和网上市场如果能更多地模仿它们的英国和荷兰先祖生意也许就会更好。但这种多种类混合体该叫什么呢？ 叫“克利夫悬疑”如何
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Unit 7 

The Indian finance ministry's mid-year review, released this week, sees the external sector as a silver lining around the country's huge fiscal deficit. "Buoyant" and "encouraging" are the words used to describe three consecutive quarters of current-account surplus--the first in a quarter-century. Add to that swelling foreign-exchange reserves and a stronger rupee, and some are arguing that it is time for drastic liberalisation of India's foreign-exchange regime. They could be disappointed.
For most of the past decade, the nominal value of the rupee has been allowed to decline gently against the dollar, by about 5% a year, thus staying fairly steady in real terms. This year, however, it has been appreciating in real terms (and, since June, nominally as well). It would have done so more sharply had the central bank not been buying dollars with gusto. Exporters of manufactured goods, obsessed with price competition from China, are aghast at the rise--and at the prospect held out by some forecasters that a sustained boom in India's IT exports means it will continue.

The rupee's recent strength is only partly related to India's prowess in software and the mushrooming of "business-process outsourcing" in such projects as call-centres. The chunky surplus on invisibles owes more to remittances: non-resident Indians, attracted by the stability of the rupee and its higher interest rates, have been moving their offshore deposits back home. Similarly, Indian companies are borrowing more in dollars without selling rupees forward to hedge repayments. The trade deficit, meanwhile, has been shrinking, as imports grow slowly.

The inflows have boosted foreign-exchange reserves by some $20 billion this year, to $66 billion, or 12 months'-worth of imports. The size of this cushion has triggered some calls for further liberalisation of the labyrinthine foreign-exchange controls that India still maintains, despite the move in 1993 towards rupee convertibility for trade purposes. In recent months, some controls have duly been eased. It is now simpler, for example, for individuals to open foreign-currency bank accounts, and for travellers to get hold of foreign exchange. And non-resident Indians have been allowed to take out money acquired through inheritance, or from rents and dividends.

Some commentators have taken all this as a harbinger of full capital-account convertibility. That is not on the cards. The experience of 1991, when India ran out of money, has left the central bank prone to caution--an approach it felt was vindicated by the East Asian crisis of 1997-98. With war in Iraq looming and a turbulent oil market, some risk aversion is understandable. India's fiscal deficit--some 10% of GDP and widening--is another reason for moving slowly. Just as one rating agency, Moody's, is considering upgrading India's external debt, another, Fitch, has warned that its local-currency rating is under threat. Nor is it certain that opening the capital account would mean a weaker rupee. It might even attract more capital inflows. As India's exporters are learning, convertibility is a two-way street.

注（1）：本文选自Economist；12/7/2002, p73, 1/3p；
注（2）：本文习题命题模仿2002年真题text 2第2题（1），text 5第3题（2），1995年真题text 2第4题（3），2000年真题text 4第3题（4）和1998年真题text 2第4题（5）；
1.       The expression “silver lining” (Line 2, Paragraph 1) most probably means______.  

[A] a side effect

[B] a favorable aspect

[C] a decorative line

[D] a comforting prospect

2.       According to the text, the appreciation of the rupee in real terms__________. 

[A] will lower its nominal value

[B] is bad news to exporters of manufactured goods

[C] means a sharper decline of its nominal value against the dollar

[D] will give impetus to the development of India’s IT industry

3.       The current account surplus owes to the following EXCEPT_________.

[A] the strength of the rupee

[B] the remittances of non-resident Indians 

[C] the hedging activity of Indian companies

[D] the growing imports

4.       Which of the following is true according to the text? 

[A] India’s foreign exchange reserves increased more than three times this year.

[B] Individuals are now allowed to trade foreign currency freely. 

[C] India now can tackle adverse events in the foreign exchange market better

[D] India’s foreign exchange controls are seen as a hamper to its economic development.

5.       Which of the follow is NOT a reason for India’s slow response to calls for liberalization 

of its foreign exchange?  

[A] Its increasing foreign reserve.

[B] Its past experience.

[C] Uncertainty of the oil market.

[D] Its growing fiscal deficit.

答案：D B D C A

篇章剖析
本篇文章是一篇说明文，针对印度外汇储备增加，卢比走强是否会对印度的外汇管制政策产生影响进行了分析。第一段介绍了印度外汇储备增加，卢比走强的财政情况，并提出本文主要观点：印度也许并不会大幅放开对外汇的管制。第二段介绍了卢比升值的情况。第三段介绍了卢比升值带来的影响---外汇流入。第四段介绍了外汇储备增加的情况以及政府适度放松外汇管制。第五段分析了政府不会大幅放开外汇管制的原因，并得出自己的结论：外币兑换是一条双行道。
词汇注释
silver lining: 一线希望
buoyant: [] adj. 趋于上升的（价格）
rupee: [] n. 卢比（印度、巴基斯坦等国的货币）
liberalization: [] n. 自由化; 放宽限制
nominal: [] adj. 属于、关于或是一笔钱或者股票证券的票面价值量的
appreciate: [] v. 增值, 涨价
gusto: [] n. 兴致勃勃；热情
aghast: [] adj. 惊骇的, 吓呆的
prowess: [] n. 卓越的技能；杰出的才能；本领
mushrooming: [] n. 迅速增长, 激烈增殖
outsourcing: [] n. [商]外部采办,外购
chunky: [] adj. 结实的；厚实的
remittance: [] n. 汇款, 汇寄之款, 汇款额
offshore: [] adj. 海外的，国外的
hedge: [] n. 保值措施，套期保值
cushion: [] n. 缓冲减轻或缓和不利后果的东西
labyrinthine: [] adj. 迷宫(似)的, 曲折的
convertibility: [] n. 可兑换性
dividend: [] n. 股息, 红利
harbinger: [] n. 先驱, 预兆
prone: [] adj. 倾向于
vindicate: [] v. 证明…正当
loom: [] v. 隐现, 迫近
turbulent: [] adj. 动荡的；难控制的
aversion: [] n. 指转向或转移的行为
难句突破
1. The size of this cushion has triggered some calls for further liberalisation of the labyrinthine foreign-exchange controls that India still maintains, despite the move in 1993 towards rupee convertibility for trade purposes.

主体句式：The size of this cushion has triggered some calls…

结构分析：这一句虽然也包含一个定语从句，但结构并不算太复杂，容易造成理解困难的是cushion, labyrinthine这两个词。Cushion原意是“垫子”，这里引申为“缓冲不利后果的东西；保障”，labyrinthine的意思是“复杂的；迷宫般的”。
句子译文：尽管在1993年印度已允许进行以贸易为目的的卢比兑换，但印度目前的外汇控制如迷宫般复杂。现在有了这样的巨额储备作保障，一些人开始呼吁印度政府进一步放开现有外汇控制。
2. The experience of 1991, when India ran out of money, has left the central bank prone to caution--an approach it felt was vindicated by the East Asian crisis of 1997-98.

主体句式：The experience…has left the central bank prone to caution. 

结构分析：这个句子是个复杂句，句中有一个以when引导的，修饰1991的定语从句和一个省略了that的，修饰approach的定语从句。
句子译文：1991年印度用完外汇储备的经历使中央银行倾向于谨慎方式—1997-98年的东亚危机证实了这种方式的正确性。
题目分析
1. 答案为D，属猜词题。根据上下文，印度的财政赤字非常大，但印度的外汇储备不断增加，并且连续三个季度的经常项目账户盈余，显然，对外部门给巨额财政赤字带来了一线希望。四个选项中，只有A的意义最符合。
2. 答案为B，属事实细节题。文章第二段制造品出口商听到卢比升值消息时的反应是“aghast”，这个词的意思是“吃惊的；吓呆的”，可见这条消息对他们来说是坏消息。
3. 答案为D，属事实细节题。文章第三段指出了印度经常项目账户盈余的几个原因：卢比的强势，海外印度人的汇款，印度公司为了套期保值而借入美元却不卖出卢比的行为，以及贸易赤字的缩小。而贸易赤字缩小的原因是进口增长缓慢。所以进口的不断增长不是导致经常项目账户盈余的原因。
4. 答案为C，属事实细节题。根据文章第四段第二行，印度外汇储备的大幅增加到660亿美元，因此一些人认为印度已经有了一个可以放心开放外汇控制的cushion。这个词的意思是“缓冲不利影响的东西”，显然现在的印度能够更从容地应付外汇市场的不利情况。
5. 答案为A，属事实细节题。根据上下文，人们呼吁印度放宽外汇控制的原因是印度的外汇储备不断增加，卢比也不断走强。A项中的答案正好因果颠倒了。
参考译文
印度财政部长本周发布了年中报告，报告认为对外部门给该国巨额财政赤字带来了一线希望。‘行情看涨’和‘令人鼓舞’这些词被用来形容1/4世纪以来首次连续三个季度的经常项目账户盈余。随着外汇储备的膨胀和卢比的增强，一些人认为大幅放开印度外汇管制的时候到了。不过他们也许会失望。
在过去十年中的大部分时候，卢比的面值被允许以每年约5%的幅度相对于美元温和地贬值，因此它的实际价值是相当稳定的。然而，在今年，卢比的实际价值一直在升值（而且，自六月以来，其面值也在上扬）。如果不是中央银行一直在积极买入美元，卢比的升值幅度会更高。对饱受中国产品价格竞争困扰的制造品出口商来说，卢比升值的消息令人心惊肉跳。一些预测者认为，由于印度信息产业出口还将持续繁荣，卢比将继续升值。
卢比最近的强势与印度在软件业的实力以及最近兴起的将电话中心等项目的业务流程外包有一定的关系。相当的无形收支项目盈余主要来自汇款：受卢比的稳定性和高利率的吸引，那些旅居他乡的印度人一直在将他们的海外存款汇回家乡。与此类似，印度公司也贷入更多美元，同时不卖出远期卢比以便偿还美元贷款时能够套期保值。在此期间由于进口增长缓慢，贸易赤字也在不断减少。
外汇的流入使得外汇贮备在今年快速增长了大约200亿美元，达到了660亿美元，相当于12个月的进口总额。尽管在1993年印度已允许进行以贸易为目的的卢比兑换，但印度目前的外汇控制如迷宫般复杂。现在有了这样的巨额储备作保障，一些人开始呼吁印度政府进一步放开现有外汇控制。最近几个月来，一些外汇控制已经被适当放松。比如，个人开设外汇银行账户、旅游者持有外汇都比以前要简单很多。此外旅居国外的印度人也可转出遗产继承收入，或租金、利息收入。
一些评论员将上述情况视为资本账户可完全兑换的先兆。然而这个可能性并不大。1991年印度用完外汇储备的经历使中央银行倾向于谨慎方式—1997-98年的东亚危机证实了这种方式的正确性。随着伊拉克战争的临近，以及石油市场的波动，进行一些风险转移是可以理解的。印度的财政赤字—约为GDP的10%且正在扩大—是另一个开放动作缓慢的原因。在穆迪（Moody’s）这个评级机构考虑提升印度外债的等级的同时，另一个评级机构，惠誉（Fitch）则警告说它的本地货币评级处境堪忧。放开资本账户并不一定意味着削弱卢比，说不定它还会吸引更多的资本流入。外币兑换是一条双行道，这一点印度的出口商们也越来越有感触。
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Unit 8 

The giant Mirafiori plant in Turin is the heart of Fiat Auto, the troubled car division of the Fiat group. As the early shift trooped home at 2pm on October 9th, the mood was pessimistic. The workers knew that the bosses were meeting union leaders later that afternoon in Rome to announce 8,100 job cuts across the group's car factories. This is on top of 3,000 job losses announced earlier this year. Workers expect one-third of Mirafiori's 12,000 employees to be gone by next July. Fiat says that all but 500 of the total are temporary lay-offs, to last about a year. But the morose workers passing through Mirafiori's gates doubt that the jobs will ever come back, whatever the firm says about new models and future investment.
Fiat Auto will lose around €1 billion ($987m) this year, wiping out profits in other parts of the group, which makes everything from lorries and tractors to robots. Fiat's bosses have been in denial for years about the company's massive over-capacity, the cause of growing losses as sales slumped. Five years ago Fiat Auto made 2.6m cars a year and profits of €758m. Since then it has recorded a loss in every year bar one. This year it will produce barely 1.9m cars. Its banks forced a restructuring in May, and the chief executive of its Fiat group parent had to resign a few weeks later.

The pain is bad enough in northern Italy, where unemployment is barely 4%, but it will be felt more elsewhere. The Termini Imerese plant in Sicily is to lay off 1,800 workers. Unions say that cuts among suppliers could double the number of people hit. The local official jobless rate is already 18% (though this ignores a lively "informal" economy). This is posing a nasty problem for the government of Silvio Berlusconi, which polled strongly in Sicily but is not inclined to aid troubled firms.

Fiat's belated willingness to take tough steps to align capacity with demand is down to the group's new boss, Gabriele Galateri, chosen in June to rescue the firm, which is 30% owned by Agnelli family interests. His aim is to restore credibility, arrest the alarming plunge in the company's share price and persuade the banks that he is sorting out the Fiat Auto mess, so as to win their support for a further recapitalisation.

Closely watching this Italian drama are bosses of General Motors, owners of 20% of Fiat Auto. The Italians have an option to sell the remaining shares to GM from January 2004. GM, which has its own problems in Europe, is desperate for Fiat Auto to sort itself out before it can be forced to take over. Although the Agnelli family patriarch, the ailing 81-year-old Gianni Agnelli, is opposed to such a sale, most analysts expect that Italy's proudest manufacturing company will end up in American hands.

注（1）：本文选自Economist；10/12/2002, p59-59, 3/5p, 1c；
注（2）：本文习题命题模仿1999年真题text 4第3题（1），2004年真题text 4第2题（2），2002年真题text 5第3题（3）和text 3第4题（5），和1998年真题text 2第4题（4）；
1.       The workers in Fiat’s plant were pessimistic because_________.

[A] the car division of the Fiat group was in trouble

[B] new models and future investment promised no hope of getting their jobs back

[C] there will be heavy job losses in the giant Mirafiori plant

[D] they were facing the threat of losing their jobs

2.       We learn from the second paragraph that___________. 

[A] the market demand for Fiat cars now is far lower than it was five years ago

[B] Fiat Auto is the only part of the group that is running at a loss

[C] Fiat Auto is selling cars more than they can produce

[D] the cause of Fiat’s trouble is the sluggish Italian economy

3.       According to the text, Fiat’s job cuts _____________. 

[A] trigger a wave of job cuts in other companies

[B] become a headache of Italian government

[C] double the number of jobless people in northern Italy

[D] force Italian government to aid it

4.       Which of the following is NOT a measure Fiat Auto took to combat growing losses? 

[A] Preventing share price from falling

[B] Laying off workers

[C] Reducing production

[D] Replacement of the boss

5.       We can draw a conclusion from the last paragraph that___________. 

[A] Fiat Auto can hardly solve its own problems

[B] GE will be happy to buy the remaining shares of Fiat Auto

[C] the Agnelli family has a final say to whether Fiat Auto should be sold out

[D] Americans are better at running car campanies

答案：D A B A A 

篇章剖析
本文是一篇说明文，介绍了菲亚特公司因业绩不佳而不得不裁员的情况。文章第一段介绍了菲亚特公司大规模裁员的情况；第二段介绍了菲亚特公司最近几年的亏损情况；第三段说明菲亚特公司裁员对当地的影响；第四段介绍了菲亚特公司所采取的措施；第五段做出结论：菲亚特公司极有可能落入美国人手中。
词汇注释
morose: [] adj. 坏脾气的；忧郁的
slump: [] n.  (物价)暴跌, 跌落
belated: [] adj. 来得太迟的
recapitalisation: 重新投资
patriarch：[] n. 家长, 族长, 创办人
ailing: [] adj. 生病的
难句突破
Fiat's belated willingness to take tough steps to align capacity with demand is down to the group's new boss, Gabriele Galateri, chosen in June to rescue the firm, which is 30% owned by Agnelli family interests.

主体句式：Fiat’s belated willingness ..is down to the group’s new boss. 

结构分析：这是一个复杂句。主语后面带有一个不定式短语作定于，过去分词chosen所带的短语作了boss的定语，后面还有一个which引导的非限定性定语从句。
句子译文：菲亚特迟迟不愿采取强硬措施使产需一致，直到六月份加布里埃莱·加拉泰雷临危受命，成为集团新任总裁，这种状况才有所改变。
题目分析
1. 答案为D，属事实细节题。根据文章第一段第提到，工厂老板将和工会领导就裁员的问题进行会晤，并宣布大批裁员，这是一年之内的第二次大规模裁员。虽然公司许诺大多数人只是暂时被解雇，但工人们怀疑工作是否还会回来。可见，令他们悲观的是自己将被解雇。
2. 答案为A，属事实细节题。文章第二段提到菲亚特汽车公司五年前生产260万辆汽车仍然能够盈利，而现在只生产190万辆汽车但仍然面临亏损的局面，可见菲亚特汽车的市场需求比以前下降很多。
3. 答案为B，属事实细节题。根据文章第三段，菲亚特裁员将会使地方失业率上升，让不想援助困难公司的贝卢斯科尼政府犯难（pose a nasty problem）。可见菲亚特裁员成了令意大利政府头痛的事情。
4. 答案为A，属事实细节题。文中谈到菲亚特汽车公司的问题时，也谈到了相应的措施（尽管没有直接说明），比如裁员，换总裁，减少产量等。防止股价下跌是新任总裁制定的目标。这和措施不能混为一谈。
5. 答案为A，属推理判断题。根据文章最后一段，GE希望菲亚特自己把问题解决好，免得由GE接管。然而大多数分析人士认为菲亚特公司最终将落入美国人的手里，也就是说菲亚特的问题已经不是自己能够独立解决的了。
参考译文
位于都灵的米拉菲奥里（Mirafiori）大工厂是菲亚特集团下属菲亚特汽车公司的核心部门，该公司最近麻烦不断。10月9日下午2点早班工人下班回家的时候，悲观的情绪笼罩着人们。工人们知道工厂老板将于当天下午晚些时候在罗马会见工会领导人，宣布集团所有工厂范围内裁员8100人。这是继今年早些时候宣布裁员3000人之后的又一次裁员。工人们预计到明年七月，米拉菲奥里工厂的12000名员工中将有三分之一的人丢掉工作。菲亚特说除了500人外，所有其他人都只是暂时被解雇一年。但闷闷不乐的工人们在走出米拉菲奥里工厂大门时怀疑不论公司把新车型和未来的投资说得如何天花乱坠，工作也不会回来了。
菲亚特汽车公司今年将亏损近10亿欧元（合9.87亿美元），这把集团其它部门的利润全部抵销了，这些部门制造的东西从卡车，拖拉机到机器人应有尽有。菲亚特的老板们多年来一直否认公司产能严重过剩，而这正是销售额下降，损失不断上升的原因。五年前菲亚特汽车公司每年生产260万辆汽车，年利润达到7.58亿欧元。从那以后，除了一年业绩稍好，其它几年是年年亏损。今年该公司计划只生产190万辆汽车。五月菲亚特公司迫于银行压力进行了结构调整，短短几星期后，菲亚特集团母公司的首席执行官就辞去了职务。
意大利北部的失业率虽然只有4%，但这对该地区仍然是一次重创。不过其它地方遭受的打击更为严重。位于西西里的泰尔米尼-伊梅雷塞工厂将要裁员1800人。工会说供应商的减少可能会使失业人数增加一倍。当地官方统计的失业率已经达到了18%（虽然这个数字忽略了活跃的“非正式”经济）。这给西尔维奥·贝卢斯科尼政府出了一道难题，他的政府虽然在西西里获得的民意支持很高，但并不打算帮助那些陷入困境的公司。
菲亚特迟迟不愿采取强硬措施使产需一致，直到六月份加布里埃莱·加拉泰雷临危受命，成为集团新任总裁，这种状况才有所改变。他肩负拯救这家由阿格里尼家族控股30%的公司的重任。他的目标就是恢复公司信用，阻止公司股价大幅下跌，让银行相信他正在梳理菲亚特汽车公司的这堆乱麻，以便赢得他们的支持，给公司继续投资。
通用汽车公司的老板们正密切关注着意大利的局势。该公司持有菲亚特汽车公司20%的股份。从2004年一月起，意大利人就可以把剩余股份卖给通用公司。而通用公司在欧洲的麻烦已经不少，在万不得已接管之前，它巴不得菲亚特汽车公司能够自己把问题解决好。虽然阿格里尼家族的首领，81岁高龄，体弱多病的乔万尼·阿格里尼反对这笔交易，大多数分析家认为意大利人最引以为傲的制造公司将最终落入美国人的手中。
07年考研英语阅读理解精读100篇unit9

Unit 9 

Richard Evans, a retired lorry driver, and his family were travelling in Spain last summer when their camper van broke down. They left it to be brought back by the AA. But customs officers at Dover claimed it was being used for smuggling. They seized the vehicle and all its contents, including 9,000 cigarettes and 20 bottles of spirits. The van, worth £20,000 ($30,800), is still impounded. It even took Mr. Evans six months to recover his 90-year-old mother-in-law's wheelchair.
Under European Union regulations, people may import an unlimited quantity of alcohol and tobacco, so long as it is for their own personal use. Had Mr. Evans been driving his van himself, he would probably have had no trouble. Cases like this are putting Customs and Excise's considerable powers under scrutiny. A recent stinging High Court judgment about another vehicle seizure said, "the mindset of those determining these policies has not embraced the world of an internal market where excise goods can move freely across internal frontiers." And, on September 18th, the EU announced that it was giving Britain two months to prove that customs officers were not breaching consumers' rights to shop freely in Europe. "Cross-border shopping...is a fundamental right under EU law and should not be regarded as a form of tax evasion," said Frits Bolkestein, the internal market commissioner.

Customs officers have an impossible job. Excise duty and VAT on a pack of premium brand cigarettes account for 79% of the recommended retail selling price of £4.51. An identical pack costs £1.97 in Belgium. One in every five cigarettes smoked in Britain--some 17 billion altogether--has been smuggled. The Tobacco Manufacturers' Association reckons that 80% of hand-rolling tobacco is smuggled.

The main weapon Customs and Excise has in tackling abuse is to seize cars in which it suspects goods are being smuggled. Guidelines suggest "personal use" can mean only up to 800 cigarettes, for example. Anyone bringing in more can be asked to explain. In the past three years, customs officers have impounded more than 22,000 vehicles. Tellingly, only a fifth of seizures are contested, and fewer than 1% of appeals are successful. Officials say the value of cross-channel smuggling has fallen sharply in the past year, from £1.6 billion to £400m.

Some customs officers, though, have clearly been over-zealous. And the recent High Court case ruled that the legislation under which Customs and Excise operates wrongly reverses the burden of proof. The defendant must prove that he is not bringing in tobacco and so forth for a commercial purpose. It also said that customs officers must have "reasonable grounds" for searches: suspicion and instinct are not enough. The government is appealing.

The minister in charge of Customs and Excise, John Healey, accepts that there is an urgent need to respond to questions about the "legitimacy" of the Customs regime. But he says the charge that Customs are abusing their powers is wrong: "Customs," he says, "never stop at random, they never do blanket searches. They always have some ground for stopping people." Tell that to Mr Evans.

注（1）：本文选自Economist; 9/21/2002, p52-53, 2p；
注（2）：本文习题命题模仿对象2004年真题Text 3；
1.       How could Richard Evans have avoided such a trouble?

[A]If the camper van didn’t break down on the way.

[B]If the amount of alcohol and tobacco were not too large.

[C]If he carried cigarettes and spirits for personal use.

[D]If he hadn’t asked others to drive the car.

2.       How does the EU feel about the behavior of Customs and Excise?

[A]Critical.

[B]Optimistic.

[C]Indifferent.

[D]Supportive.

3.       How can Customs and Excise check the smuggling effectively?

[A]By doing blanket searches.

[B]By seizing the suspect cars.

[C]By limiting shopping in Europe.

[D]By stopping at random.

4.       What is the charge against Customs and Excise?

[A]They are abusing their power.

[B]They deprive Europeans of their right to a free shop.

[C]They seize the car for no good reason.

[D]Their power is too excessive.

5.       By “Tell that to Mr Evans.”(Last Line, Paragraph 6), the author means _____________.

[A]Evans should learn a lesson from his experience

[B]what John Healey has said is good for Evans

[C]he does not believe what John Healey has said

[D]Evans should understand what he has experienced

答案：DABAC

篇章剖析
本文采用提出问题——分析问题的模式，非常客观地分析了海关工作确实是一件非常棘手，但也确实非常必要的工作，但在工作中有些官员表现得过于“热情”，有滥用职权的嫌疑，所以招致了一些公民的指控。第一段以理查德·埃文斯的经历为例，指出他在海关遇到的麻烦；第二段指出海关和货物税收部门的强大权力受到了密切关注；第三段指出走私现象非常严重；第四段指出关税及国产税务部门在对付走私时使用的武器主要是没收有走私嫌疑的车辆；第五段指出最高法庭诉讼案的新规定；第六段指出海关官员的反应。
词汇注释
AA=Automodile Association of Great Britain汽车协会
impound []vt.关在栏中, 拘留, 扣押, 没收
scrutiny []n.详细审查
seizure []n.抓, 捉, 没收, 查封, 夺取
breach []vt.打破, 突破
evasion []n.逃避, 借口
VAT=Value-Added Tax 增值税, 附加价值税;

premium [] adj 质优价高的;质量或价值极高的：
reverse [] vt颠倒，倒转；撤消或废除（法令等）
burden of proof n.提供证据之责任
defendant []n.被告
legitimacy []n.合法(性), 正统(性), 正确(性), 合理(性)

at random  adv.胡乱地, 随便地
难句突破
A recent stinging High Court judgment about another vehicle seizure said, "the mindset of those determining these policies has not embraced the world of an internal market where excise goods can move freely across internal frontiers."
主体句式：a judgment said …

结构分析：本句是一个简单句，关键是理解其中一些词汇的含义。“stinging”在此句的含义是“棘手的”；在引用的话中，“mindset”的意思是“思想倾向”，“determining these policies”之前省去了“who are”，这就变成了现在分词做后置定语来修饰“those”；“embrace”的意思是“接受”；“where”引导定语从句来修饰“internal market”。
句子译文：高级法院最近审理另一起棘手的机动车扣留案件时说明：“决定这些政策的那些人，在思想意识里并没有接受欧盟境内市场。在这个市场里，征税货物在各成员国之间是可以自由流通的。”
题目分析
1．答案为D，属推理判断题。原文对应信息是：“Had Mr. Evans been driving his van himself, he would probably have had no trouble.”本句是虚拟语气 。表示与过去事实相反，从句用过去完成时，主句用“would have done”。但有时会把“if”省略，把“had”提前，本句就属于这种现象。
2．答案为A，属情感态度题。句子“A recent stinging High Court judgment about another vehicle seizure said, "the mindset of those determining these policies has not embraced the world of an internal market where excise goods can move freely across internal frontiers."”中显然包含了批评的含义；接下来的句子也是顺承这一含义的：“And, on September 18th, the EU announced that it was giving Britain two months to prove that customs officers were not breaching consumers' rights to shop freely in Europe.”，我们可看出欧盟也是不赞成海关的一些做法的；从欧盟内部市场委员Frits Bolkestein的话：“Cross-border shopping...is a fundamental right under EU law and should not be regarded as a form of tax evasion”，我们更加看出欧盟对待海关的一些做法的态度究竟如何。
3．答案为B ，属事实细节题。原文对应信息是“The main weapon Customs and Excise has in tackling abuse is to seize cars in which it suspects goods are being smuggled.”。从给出的数据“In the past three years, customs officers have impounded more than 22,000 vehicles. Tellingly, only a fifth of seizures are contested, and fewer than 1% of appeals are successful.”，我们可看出这一手段确实非常有效。
4．答案为A，属事实细节题。原文对应信息是：“But he says the charge that Customs are abusing their powers is wrong.”。
5．答案为C，属推理判断题。从文章来看，作者非常客观地分析了海关工作确实是一件非常棘手，但也确实非常必要的工作，但在工作中有些官员表现得过于“热情”，有滥用职权的嫌疑，所以招致了一些公民的指控。虽然关税及国产税务部部长为之也做了辩解，但是并不使人信服，所以在文章最后，作者说了一句：“Tell that to Mr Evans.”。
参考译文
理查德·埃文斯是一位退休的货车司机。去年夏天，他和家人在西班牙旅行的时候，他们开的露营车出了故障。他们把车留给汽车协会，由他们负责拖回去。但是多佛港口的海关官员却声称此车被用来走私。他们没收了这辆汽车以及车上的所有物品，其中包括9，000支香烟和20瓶烈性酒。直到现在，这辆价值20，000英镑（相当于30，800美元）的露营车仍然被扣押着。埃文斯先生甚至还花费了六个月的时间才得以取回他那年高九旬的岳母的轮椅。
欧盟法规规定，只要是个人使用，对带入境的酒和烟的数量并不限制。假如埃文斯是自己开车的话，那么他很可能就不会有任何麻烦。类似这样的案例使海关和货物税收部门的强大权力受到了密切关注。高级法院最近审理另一起棘手的机动车扣留案件时说明：“决定这些政策的那些人，在思想意识里并没有接受欧盟境内市场。在这个市场里，征税货物在各成员国之间是可以自由流通的。”9月18日，欧盟宣布：给英国两个月的时间来证明其海关官员没有侵犯消费者可以在欧洲自由购物的权利。内部市场委员Frits Bolkestein说：“根据欧盟法律，跨境购物是公民的基本权利，不应该被视为逃税行为。”
海关官员的工作相当棘手。一包高级香烟所征收的货物税和增值税是其建议零售价4.51英镑的79%。而同样一包烟在比利时售价1.97英镑。在英国，人们吸的每五支烟中就有一支——总共约170亿——是走私过来的。烟草制造商协会估计有80%的手卷烟是走私来的。
关税及国产税务部门在对付这一弊端时使用的武器主要是没收有走私嫌疑的车辆。条例规定的“个人使用”，打个比方，只限800支香烟。携带超出此数量者，将被要求做出解释。在过去三年里，海关扣留的车辆超过22，000辆。这样做有明显的效果，这些扣押案例中只有五分之一的案例是有争议的，上诉案件的胜诉率还不足1%。海关官员宣称去年跨境走私物品的价值从16亿大幅度下跌到4亿英镑。
然而，有些海关官员明显表现得过于积极。最近的最高法庭诉讼案规定，海关方面执行有误的那项法规把双方提供证据的责任进行了交换。被告必须证明自己没有出于商业目的而携带烟草等物品。还规定海关官员必须有进行收查的“合理依据”：光靠怀疑和直觉是不够的。政府部门也在做此呼吁。
关税及国产税务部部长约翰·希利表示，确实迫切需要对海关系统合法性问题做出反应。但他认为，有关海关滥用职权的指控是错误的。“海关，”他说，“从来不随意截停，也从不做地毯式搜查。他们拦住某些人都是有理由的。”把这话说给埃文斯先生吧。
07年考研英语阅读理解精读100篇unit10

Unit 10 

Focus on what you do best. This age-old strategy has worked well for RealNetworks, Microsoft's main competitor in multimedia software for the Internet. Now, the smaller Seattle-based firm is trying a novel way to contain the software giant. On October 29th, it released the underlying recipe, or source-code, of its RealPlayer software and will soon do the same for its other programs--giving away a big chunk of its intellectual property.
This may sound like a desperate echo of 1998, when Netscape, struggling in Microsoft's chokehold, published the source-code of its web browser (an initiative that yielded few real results until this June, when the first serious new version of the open-source browser, Mozilla, was released). Yet RealNetworks is not playing defence. It is trying to encourage the creation of a common multimedia software infrastructure for every kind of file format and device, thus thwarting Microsoft's ambitions in this promising market.

The firm hopes that others in the industry (volunteer programmers, media firms and hardware makers) will take the code, called Helix DNA, improve it and make it run on new devices, such as mobile phones and home stereos, turning RealNetworks' software into an industry standard. Clever licensing terms are supposed to ensure that this standard does not splinter and that the firm still makes money.

Individual developers, universities and other non-profit organisations can modify the software as they please, and even redistribute it for free, so long as they also publish the source-code for their changes. This is a sort of payment in kind, for RealNetworks is then allowed to use these contributions. Firms, on the other hand, must pay royalty fees if they distribute more than 1m copies of the code. They also have to make sure that their software works with other Helix DNA products. The software's development community already has 2,000 members. And several hardware makers back the effort. But there are risks. Afraid of piracy, media groups are suspicious of anything that might be related to hackers (although they also do not want to depend on, and pay for, technology controlled by Microsoft). The self-created competition could also hurt RealNetworks if customers decide its commercial products, which will be based on the open source-code but with extra features, are not worth paying extra for.

RealNetworks' move is another sign that the software industry is going hybrid. Mixing elements of proprietary software, where the source-code is tightly controlled, with open-source programs enables firms to expand a market, harvest the ideas of others and, they hope, still make money. Even Microsoft is edging this way: it recently announced that partners can now look at--but not modify or re-use--the source-code for Passport, its controversial digital-identity service.

注（1）：本文选自Economist; 11/2/2002, p64-65, 2p；
注（2）：本文习题命题模仿对象2004年真题Text 1；
1.       What is the RealNetworks’ new way of stopping Microsoft?

[A]By selling its intellectual property.

[B]By doing what it is good at.

[C]By releasing the free source-code.

[D]By severe competition with Microsoft.

2.       Which of the following can be a disadvantage of releasing the source-code?

[A]It can bring about self-created competition.

[B]It can defeat Microsoft’s ambitions in this market.

[C]It can use the improved software.

[D]It can get royalty fees from some firms.

3.       The expression “a desperate echo”(Line 1, Paragraph 2) most probably means ________.

[A]a useless repetition

[B]a poor resemblance

[C]a shabby product

[D]a dangerous copy

4.       What does the move of RealNetworks suggest?

[A]Microsoft fails to control the software market.

[B]Software market is becoming a mixed market.

[C]RealNetworks wants to make more money.

[D]Software market is not fixed and stable.

5.       Which of the following is true according to the text?

[A]Netscape had a sheer failure for its publishing the source-code.

[B]RealNetworks wants to occupy the source-code market.

[C]RealNetworks wants to make profits by releasing the free source-code.

[D]Microsoft has to change its managing strategy.

答案：CADBC

篇章剖析
本文介绍了RealNetworks网络公司如何通过公布RealPlayer播放器软件秘诀（即源码），试图牵制微软公司的做法。第一段指出RealNetworks试图用一种新方法——公布RealPlayer播放器软件秘诀（即源码）来牵制微软这个软件届巨人；第二段指出RealNetworks网络公司主动出击，想要牵制微软的野心；第三段和第四段详细介绍这一方案如何操作、如何实施、以及如何获利；第五段指出软件业的新迹象，以及对微软的影响。
词汇注释
chokehold n. 掐脖子
thwart [] vt. 反对; 阻挠, 挫败, 妨碍；成功地抵制, 顶住, 使...希望破灭, 使...企图破产 

splinter vt., vi. (使)裂成碎片, (使)分裂，
royalty n. 版税，上演税；特许权使用费，专利权使用费，专利权税
edge vi. 徐徐移动, 侧着移动, 谨慎前进
难句分析
This may sound like a desperate echo of 1998, when Netscape, struggling in Microsoft's chokehold, published the source-code of its web browser (an initiative that yielded few real results until this June, when the first serious new version of the open-source browser, Mozilla, was released).
主体句式：This may sound like a desperate echo of 1998 …

结构分析：本句句形结构并不复杂，关键是理解个别词的含义。“desperate echo”的含义是“危险的仿效”；“when”并列连词，相当于“and just at that time”，意思是“在那时”；“struggling in Microsoft's chokehold”做伴随状语来修饰“Netscape”，其中“chokehold”的意思是“掐脖子”；“web browser”的意思是“网络浏览器”；括号里的句子做进一步的补充说明，其中an initiative之前省去了“which was”；“that”引导定语从句来修饰“an initiative”；定语从句中“when”还是并列连词，“Mozilla”是“open-source browser”的同位语。
句子译文：这听起来似乎像是1998年的一次危险的仿效。那年，因被微软“掐着脖子”而做生死挣扎的Netscape公司发表了其网络浏览器的源码(在今年6月它推出了真正意义上的最新版开放原码浏览器——Mozilla——之前，这种主动出击几乎没有给它带来任何实际效果)。
题目分析
1．答案为C，属事实细节题。文章在开头提到“集中注意力做你最拿手的事”这一古老的策略对微软公司在因特网多媒体软件领域的主要竞争对手RealNetworks网络公司十分奏效。现在，RealNetworks网络公司要使用一种新办法，那就是“it released the underlying recipe, or source-code, of its RealPlayer software and will soon do the same for its other programs--giving away a big chunk of its intellectual property.”。
2．答案为A，属事实细节题。原文对应信息是：“The self-created competition could also hurt RealNetworks if customers decide its commercial products, which will be based on the open source-code but with extra features, are not worth paying extra for.”
3．答案为D ，属猜词题。从文中“when Netscape, struggling in Microsoft's chokehold, published the source-code of its web browser”我们可判断RealNetworks网络公司和Netscape公司的做法一样；从句子“an initiative that yielded few real results until this June, when the first serious new version of the open-source browser, Mozilla, was released.”我们可判断Netscape公司的做法是极不成功的，危险的。
4．答案为B，属事实细节题。原文对应信息是：“RealNetworks' move is another sign that the software industry is going hybrid.”，理解这句话的关键是要知道什么是“hybrid”。接下来的句子做出了解释“Mixing elements of proprietary software, where the source-code is tightly controlled, with open-source programs enables firms to expand a market”，在这句话中注意词组“mix … with”。
5．答案为C，属事实细节题。文章两次提到了“make money”，一句是“Clever licensing terms are supposed to ensure that this standard does not splinter and that the firm still makes money.”，另一句是“they hope, still make money.”。从这些句子我们可看出“赚钱”是RealNetworks网络公司实施这一新举措的目的。
参考译文
 “集中注意力做你最拿手的事”这一古老的策略对微软公司在因特网多媒体软件领域的主要竞争对手RealNetworks网络公司十分奏效。目前，这家位于西雅图的公司正试图用一种新方法来牵制微软这个软件届巨人。10月29日，这家公司发布了取得领先地位的RealPlayer播放器软件秘诀，即源码，并将很快对其它程序采取同样的行动——出售其知识产权的一大部分。
这听起来似乎像是1998年的一次危险的仿效。那年，因被微软“掐着脖子”而做生死挣扎的Netscape公司发表了其网络浏览器的源码(在今年6月它推出了真正意义上的最新版开放原码浏览器——Mozilla——之前，这种主动出击几乎没有给它带来任何实际效果)。但RealNetworks网络公司并不是在打防御战。它正大力创建一个对每一种文件格式和装置都适用的公共多媒体软件基础结构，这样，它就在这个很使人看好的市场上有力地牵制住了微软的野心。
该公司希望业内其它公司(志愿参加的程序设计公司、传媒公司和硬件制造公司)将采用这种被称作Helix DNA的代码，对它加以改进，并在其新装置(如移动电话和家用音响等装置)上运行，最终把RealNetworks公司的软件变成一种行业标准。精明的许可证发放条款应保证这一标准不被像切蛋糕似的分成碎块，保证公司仍有钱可赚。
个体开发商、大学和其它非盈利性组织，只要他们也能把其更改后程序的源码公布于众，可根据他们的意愿对该软件进行修改，甚至可以免费发放。这实际上是一种实物支付方式，因为到了那个时候，RealNetworks公司也可使用这些改进的软件成果。另一方面，如果其它公司能销售1百万以上的源码，他们须支付特许权使用费。他们还要保证他们的软件与Helix DNA产品兼容。软件开发业已拥有2000余名成员。一些硬件制造商也支持这一举动。但存在风险。由于担心被盗版，传媒组织对一切与黑客有关的举动都表示怀疑(尽管他们也不想依赖微软、向它支付技术使用费或在技术上受控于微软)。其商业产品以开放源码为基础，但具有极佳的特点。如果客户认为这些产品不值得他们额外付钱的话，那么，自我制造的竞争也可能会伤害RealNetworks公司。
RealNetworks公司的举动表明了另一种迹象，即软件业正在成为混合模式。把那些源码受严格控制的专有软件成分(组件)与开放源码程序加以混合就能使公司拓展市场，集思广益，并且——他们希望——仍可赚钱。连微软公司也正以这种方式小心翼翼地行事：最近微软公司发出公告，说合伙人现在可以查看——但不能更改或重复使用——Passport(微软有争议的数字验证服务)的源码。
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Unit 11 

The government is desperate to sell the most troubled of South Korea's big companies to foreigners. This, ministers believe, is the best way to accelerate the corporate restructuring begun in the wake of the Asian financial crisis in 1997, and to clear the way for more sustainable economic growth. This week, after months of on-off talks with foreign suitors, the government's plans moved a big step forward, and then an equally big step back.
On April 30th General Motors (GM) signed a contract to buy the bankrupt Daewoo Motor. But on the same day, the board of Hynix, a cash-strapped memory-chip giant, shocked the markets by rejecting a proposed takeover by Micron Technology, an American competitor. Micron had offered to pay about $3.4 billion for Hynix's core memory business, and to take a minority stake in the non-memory arm. Analysts predict that the government will put pressure on creditors to rescue a deal with Micron or seek a new buyer, as liquidation is too risky to contemplate in an election year.

GM's deal with Daewoo Motor marks the end of an even longer and more painful process. Ford almost bought the car maker two years ago, but pulled out after deciding that Daewoo would be too hard to turn round. GM had been talking with Daewoo for over a year. It has agreed to buy two of the company's four domestic car plants, a factory in Vietnam, a parts unit in the Netherlands and nine overseassales arms (all in Europe except one, in Puerto Rico of all places). Between them, the two domestic factories can churn out a combined 530,000 cars and 30,000 commercial vehicles a year.

GM has struck a good deal. Together with various undisclosed partners, it will hold a 67% stake in a new company, tentatively named GM-Daewoo. The American car maker will pay $251m for its own stake of 42%, but it will also assume $573m of Daewoo Motor's debts. The acquisition is a key part of GM's global expansion. The company has been trying to strengthen its foothold in Asia for some time. Buying a presence in South Korea was seen as particularly urgent, since imports account for only 3% of the 1.5m cars sold in the country each year. GM hopes to use Daewoo's production lines to make budget cars that will be sold under the Daewoo brand in most markets.

But GM has much work to do to rebuild Daewoo's damaged brand image and domestic market share, which hovers around 10% after reaching a high of 37% in 1998. GM has to fill holes in product lines by introducing sport-utility and multi-purpose vehicles, says Nick Reilly, former chief executive of Vauxhall, GM's British subsidiary, and chief-executive-designate of GM-Daewoo now that he has sealed the deal. His management team can expect trouble from South Korea's aggressive unions along the way. In a sign of things to come, the signing ceremony was moved to a secret location after a group of union activists occupied the hotel where it was due to take place.

注（1）：本文选自Economist; 5/4/2002, p61, 1/2p, 1c；
注（2）：本文习题命题模仿对象2004年真题Text 1；
1.       Why does South Korea’s government want to sell its companies to foreigners?

[A]The companies cannot survive the Asian financial crisis.

[B]The companies can never be rescued.

[C]It can do much good to the development of the economy.

[D]It is troublesome to run the big companies.

2.       Which of the following can be the main advantage of the buying of Daewoo Motor by 

GM?

[A]It is a big step toward GM’s global expansion.

[B]It satisfies the need of the domestic markets.

[C]It holds the majority shares of Daewoo Motor.

[D]It can control the Asian market.

3.       What kind of action will the government possibly take for Hynix’s refusal?

[A]timely

[B]indignant

[C]indifferent

[D]positive

4.       Why did Ford give up the acquisition of Daewoo Motor?

[A]It is difficult to be handed over to Ford.

[B]It is difficult to be changed for better.

[C]It is difficult to ask for agreement.

[D]It is difficult to realize the tricky terms.

5.       Which of the following is not true according to the last paragraph?

[A]The image of Daewoo Motor has been greatly damaged.

[B]There is no progress in the domestic market share of Daewoo since 1998.

[C]The acquisition is quite popular with the Koreans.

[D]The Korean reaction is within the management team’s expectation.

答案：CADBC

篇章剖析
本文介绍了韩国政府因为想加快经济复苏，而极力向外国人推销南韩最混乱不堪、千疮百孔的大公司。在这个过程中，通用公司终于盘到了大宇汽车公司，但Hynix却避开了被收购的命运。文章详细介绍了通用公司的收购情况。第一段指出韩国政府因为想加快经济复苏，而极力向外国人推销南韩最混乱不堪、千疮百孔的大公司；第二段指出韩国政府的计划向前进了一大步，随之又后退了相同的一大步；第三段指出通用公司对大宇公司的收购情况；第四段指出这一收购对通用公司的意义；第五段指出通用公司在收购之后所面临的工作和任务。
词汇注释
bag vt. 装入袋中；猎获，捕获，夺取；占(位置) 

in the wake of  adv.尾随, 紧跟, 仿效
stake [steik] n. (下在投机生意上的)股本[份]

churn out (以自动方式)大量产出
designate adj. (官职)已任命但还未就职的
presence 可见物体，有形物体，此处指现有的公司或设施
难句突破
1．This, ministers believe, is the best way to accelerate the corporate restructuring begun in the wake of the Asian financial crisis in 1997, and to clear the way for more sustainable economic growth.
主体句式：this is the best way to accelerate … and to clear the way …

结构分析：本句是一个简单句。“ministers believe”是插入语；“begin”在句中的词性是及物动词，用做被动语态；词组“in the wake of”的意思是“尾随, 紧跟”；“to accelerate”和“to clear the way”都是不定式短语做定语。
句子译文：政府部长们相信，这是加快始于1997亚洲金融危机之后的公司结构调整、为经济更有效地可持续增长扫清道路的最好方式。
2．GM has to fill holes in product lines by introducing sport-utility and multi-purpose vehicles, says Nick Reilly, former chief executive of Vauxhall, GM's British subsidiary, and chief-executive-designate of GM-Daewoo now that he has sealed the deal.
主体句式：Nick Reilly says …

结构分析：本句并不难，关键是理解Nick Reilly的头衔。“former chief executive of Vauxhall, GM's British subsidiary, and chief-executive-designate of GM-Daewoo”是“Nick Reilly”的同位语，意思是“通用汽车公司英国子公司Vauxhall跑车部前任首席执行官、目前已被任命但尚未上任的通用-大宇公司首席执行官”；“now that”的意思是“既然, 由于”。
句子译文：通用汽车公司英国子公司Vauxhall跑车部前任首席执行官、目前已被任命但尚未上任的通用-大宇公司首席执行官尼克•赖利认为，因为已最终敲定这笔交易，所以通用公司须通过引进运动赛车或多功能汽车来填补生产线方面的空缺。
题目分析
1．答案为C，属事实细节题。原文对应信息是：“This, ministers believe, is the best way to accelerate the corporate restructuring begun in the wake of the Asian financial crisis in 1997, and to clear the way for more sustainable economic growth.。”
2．答案为A，属事实细节题。原文对应信息是：“The acquisition is a key part of GM's global expansion.”
3．答案为D ，属推理判断题。原文对应信息是：“the government will put pressure on creditors to rescue a deal with Micron or seek a new buyer, as liquidation is too risky to contemplate in an election year.” 因为大选年进行清算风险太大，后果难以预料，所以政府将对债权人施加压力以拯救与美光公司的这笔交易，或者另辟蹊径，寻找别的买主。从这里我们可看出政府将会采取积极措施。
4．答案为B，属事实细节题。原文对应信息是：“Ford almost bought the car maker two years ago, but pulled out after deciding that Daewoo would be too hard to turn round.”理解这句话的关键在与词组“pull out”（其含义是“退缩；从某种境况或承诺中撤出”）和“turn round”（其含义是“转身,转变”）。
5．答案为C，属事实细节题。选项A、B、D在文章中都可找到对应信息。文章最后提到“His management team can expect trouble from South Korea's aggressive unions along the way. In a sign of things to come, the signing ceremony was moved to a secret location after a group of union activists occupied the hotel where it was due to take place.”，我们可看出并不是所有人都赞同通用公司对大宇公司的收购的，因此选项C是错误的。
参考译文
韩国政府想极力向外国人推销南韩最混乱不堪、千疮百孔的大公司。政府部长们相信，这是加快始于1997亚洲金融危机之后的公司结构调整、为经济更有效地可持续增长扫清道路的最好方式。本周，经过数月与外商断断续续的讨论，政府的计划向前进了一大步，随之又后退了相同的一大步。
4月30日，通用汽车公司签署了一项购买已破产大宇汽车公司的合同。但是，就在同一天，急需现金的存储类芯片巨人Hynix公司的董事会断然拒绝了美国的一家竞争对手——美国美光科技公司——的收购建议，此举令市场大为震惊。美光科技公司曾出价约34亿美元来购买Hynix公司的核心芯片业务，并在非存储类芯片业务内占少数股份。分析人士预测，政府将对债权人施加压力以拯救与美光公司的这笔交易，或者另辟蹊径，寻找别的买主，因为大选年进行清算风险太大，后果难以预料。
通用汽车公司与大宇汽车公司的交易标志着一个甚至更长和更痛苦的过程的结束。两年前，福特公司几乎购买了这家汽车制造厂，但发现很难使大宇汽车公司起死回生后知难而退。通用公司与大宇汽车公司谈判了近一年。最后决定由通用公司购买大宇公司的四个国内汽车制造厂，位于越南的一家工厂、荷兰的一家零配件制造厂和九家海外分厂(除波多黎各一家制造厂外，其余的都在欧洲)。在它们之间，这两家制造厂每年可生产53万辆组合汽车和3万辆商用汽车。
通用汽车公司做成了一笔极好的买卖。它将与各种不愿透露身份的合作伙伴一起拥有新公司(暂时命名为通用​-大宇公司)的67%的股份。这家美国汽车制造商将为其拥有的42%的股份支付2.51亿美元，但它也将承担大宇汽车公司5.73亿美元的债务。此项收购是通用汽车公司全球扩张战略的关键部分。在相当一段时期内，通用公司一直试图巩固它在亚洲的地位。人们普遍认为，购买南韩现有的一家公司是通用公司的当务之急，因为每年的汽车进口量只占国内销售总量150万的3%。通用公司希望利用大宇公司的生产线生产出能以大宇商标在大部分市场销售的廉价汽车。
但是通用汽车公司还要做很多工作来重塑大宇已毁的形象，并且重新建立国内市场份额。大宇原先的市份额在1998年达到37%的高峰后，一直停留在10%左右。通用汽车公司英国子公司Vauxhall跑车部前任首席执行官、目前已被任命但尚未上任的通用-大宇公司首席执行官尼克•赖利认为，因为已最终敲定这笔交易，所以通用公司须通过引进运动赛车或多功能汽车来填补生产线方面的空缺。在这一过程中，赖利的管理班子预料到会遭遇来自韩国工会的攻击。在签署相关事宜的时候，由于签署仪式所用宾馆被一群工会激进分子所控制而不得不转到一个秘密地点。
07年考研英语阅读理解精读100篇unit12

Unit 12 

Here’s the scary thing about the identity-theft ring that the feds cracked last week: there was nothing any of its estimated 40,000 victims could have done to prevent it from happening. This was an inside job, according to court documents. A lowly help-desk worker at Teledata Communications, a software firm that helps banks access credit reports online, allegedly stole passwords for those reports and sold them to a group of 20 thieves at $60 a pop. That allowed the gang to cherry-pick consumers with good credit and apply for all kinds of accounts in their names. Cost to the victims: $3 million and rising.
Even scarier is that this, the largest identity-theft bust to date, is just a drop in the bit bucket. More than 700,000 Americans have their credit hijacked every year. It's one of crime's biggest growth markets. A name, address and Social Security number--which can often be found on the Web--is all anybody needs to apply for a bogus line of credit. Credit companies make $1.3 trillion annually and lose less than 2% of that revenue to fraud, so there's little financial incentive for them to make the application process more secure. As it stands now, it's up to you to protect your identity.

The good news is that there are plenty of steps you can take. Most credit thieves are opportunists, not well-organized gangs. A lot of them go Dumpster diving for those millions of "pre-approved" credit-card mailings that go out every day. Others steal wallets and return them, taking only a Social Security number. Shredding your junk mail and leaving your Social Security card at home can save a lot of agony later.

But the most effective way to keep your identity clean is to check your credit reports once or twice a year. There are three major credit-report outfits: Equifax (at equifax.com), Trans-Union (www.transunion.com) and Experian (experian.com). All allow you to order reports online, which is a lot better than wading through voice-mail hell on their 800 lines. Of the three, I found TransUnion's website to be the cheapest and most comprehensive--laying out state-by-state prices, rights and tips for consumers in easy-to-read fashion.

If you're lucky enough to live in Colorado, Georgia, Maryland, Massachusetts, New Jersey or Vermont, you are entitled to one free report a year by law. Otherwise it's going to cost $8 to $14 each time. Avoid services that offer to monitor your reports year-round for about $70; that's $10 more than the going rate among thieves. If you think you're a victim of identity theft, you can ask for fraud alerts to be put on file at each of the three credit-report companies. You can also download a theft-report form at www.consumer.gov/idtheft, which, along with a local police report, should help when irate creditors come knocking. Just don't expect justice. That audacious help-desk worker was one of the fewer than 2% of identity thieves who are ever caught.

注（1）：本文选自Time; 12/9/2002, p100, 3/4p, 1c；
注（2）：本文习题命题模仿对象2004年真题Text 1；
1.       What is the trend of credit-theft crime?

[A]Tightly suppressed.

[B]More frightening.

[C]Rapidly increasing.

[D]loosely controlled.

2.       The expression “inside job”(Line 6, Paragraph 1) most probably means _________.

[A]a crime that is committed by a person working for the victim

[B]a crime that should be punished severely

[C]a crime that does great harm to the victim

[D]a crime that poses a great threat to the society

3.       The creditors can protect their identity in the following way except _________.

[A]destroying your junk mail

[B]leaving your Social Security card at home

[C]visiting the credit-report website regularly

[D]obtaining the free report from the government

4.       Why is it easy to have credit-theft?

[A]More people are using credit service.

[B]The application program is not safe enough.

[C]Creditors usually disclose their identity.

[D]Creditors are not careful about their identity.

5.       What is the best title of the text?

[A]The danger of credit-theft

[B]The loss of the creditors

[C]How to protect your good name

[D]Why the creditors lose their identity
答案：CADBC

篇章剖析
本文以最大的一起信用卡窃盗案为切入点，指出窃用信用卡是一种非常严重的犯罪现象，并介绍了如何进行一些防范措施。第一段介绍了最大的一起信用卡窃盗案；第二段指出这一犯罪现象的严重性：这是最大的成长性犯罪市场之一，而且银行方面的防护措施薄弱；第三段、四段和五段详细介绍了一些防范措施。
词汇注释
identity-theft 个人身份信息被盗
fed n. [常作F-][美俚]联邦调查局人员; 联邦政府工作人员
ring n. 团伙；一帮
inside job  n. (Slang) 监守自盗
pop adv. 每张地；每个地
bust [] n. 逮捕；告破；突然搜查
a drop in the bucket 冰山一角，沧海一粟
hijack vt. 劫持，(像拦路抢劫似的)偷窃；诈骗，欺诈
credit n. 信用；(银行)存款
bogus [] adj. 假的；伪造的，如：a bogus certificate 伪造的证件
line of credit 信用限额，信贷限额
fraud [] n. 欺骗, 欺诈行为，诡计；骗子；假货
as it stands 按照现在情况, 事实是这样

Dumpster n. (邓普斯特尔商标)垃圾罐
go out过时，不流行
shred vt., vi. (shredded) 撕碎, 切碎, 破碎
irate [] adj. 发怒的；生气的
knock vt. 批评；找岔子
audacious [] adj.大胆的, 卤莽的, 蛮横无理的；大胆创新的
难句突破
A lowly help-desk worker at Teledata Communications, a software firm that helps banks access credit reports online, allegedly stole passwords for those reports and sold them to a group of 20 thieves at $60 a pop.
主体句式：a worker stole … and sold …

结构分析：本句是一个简单句。在这个句子中，“lowly”用做形容词，意思是“.地位低的, 卑贱的”；“a software firm that helps banks access credit reports online”是“Teledata Communications”的同位语，其中that引导定语从句来修饰a software firm，access的词性是动词，意思是“接近，进入获得接触（数据或程序）的途径”；“allegedly”的意思是“依其申述”；“a pop”的意思是“每张地；每个地”。
句子译文：据说，一家帮助银行在线访问客户信誉报告的软件公司——远程数据通信公司——的一个低级help-desk服务系统工作人员盗取了这些报告的密码，以每个60美元的价格卖给一个由20个小偷组成的团伙。
题目分析
1.答案为C，属事实细节题。句子“Even scarier is that this, the largest identity-theft bust to date, 

is just a drop in the bit bucket.”的意思是“甚至更令人震惊的是, 迄今为止最大的个人信息窃盗案的告破仅仅是冰山之一角。”；“It's one of crime's biggest growth markets.”的意思是“这是最大的成长性犯罪市场之一。”从这两句话我们可做出正确的选择。
2.答案为A，属猜词题。原文对应信息是“A lowly help-desk worker at Teledata Communications, a software firm that helps banks access credit reports online, allegedly stole passwords for those reports and sold them to a group of 20 thieves at $60 a pop.”。这句话对“inside job”做出了解释。
3.答案为D ，属事实细节题。选项D是某些债权人应享有的权利，而不是一种防范措施。
4．答案为B，属推理判断题。原文对应信息是：“A name, address and Social Security number--which can often be found on the Web--is all anybody needs to apply for a bogus line of credit. Credit companies make $1.3 trillion annually and lose less than 2% of that revenue to fraud, so there's little financial incentive for them to make the application process more secure.”。
5．答案为C，属主旨大意题。文章开头指出窃用信用卡是一种非常严重的犯罪现象，接着介绍了如何进行一些防范措施。所以选项C是正确答案。
参考译文
下面是有关上周已被联邦特工粉碎的盗窃团伙偷盗个人信息的令人惊慌的事例：估计受害人 有4万人之众，而他们中间的任何人根本无法采取任何防范措施来阻止这种盗窃行为的发生。据法院档案记载，这是一种监守自盗行为。据说，一家帮助银行在线访问客户信誉报告的软件公司——远程数据通信公司——的一个低级help-desk服务系统工作人员盗取了这些报告的密码，以每个60美元的价格卖给一个由20个小偷组成的团伙。这样，该盗窃团伙就从那些消费者的名单中精心挑选出信用好的人，然后以他们的名义申请各种账户。受害人付出的代价：3百万美元，而此数仍在继续攀升。
甚至更令人震惊的是, 迄今为止最大的个人信息窃盗案的告破仅仅是冰山之一角。每年有70多万美国人的银行存款被疯狂盗取。这是最大的成长性犯罪市场之一。一个名字、一个地址和一个社会保险号——这些东西在网上很容易找到——是想申请假信贷限额的任何人所需的全部东西。信贷公司每年赚1.3万亿，其中2%的收入被骗子诈取，因此，几乎没有任何金钱的刺激来促使他们把申请过程做得更安全一些。按现在情况看，保护自己的信用安全完全是你自己的事。
好消息是，有许多可采取的步骤供你选择。多数信用卡窃贼是投机取巧者, 而非组织严密的团伙。他们当中的许多人常去翻垃圾桶，去寻找数百万件事先批准、且已过时的信用卡邮件，而其它人则去偷钱包。到手后他们只留下社会保险号，把钱包返还给失主。粉碎垃圾邮件、把社会保险卡留在家里可减少你许多事后后悔莫及的痛苦。
但保护你的信用卡不被盗取的最有效的方法是检查你的信用报告，每年一至两次。有三个主要的信用报告查询网址：Equifax (equifax.com)，Trans-Union (www.transunion.com)和 Experian (experian.com)。你可在这些网址上在线订购信用报告, 这比通过他们提供的800条专线进行令人痛苦的语音邮件炼狱式查询好得多。在这三个网站中，我发现TransUnion的网站收费最低，且内容包罗万象——以一种便于阅读的方式为消费者列出了各项价格、权利和提示。
如果你有幸住在科罗拉多州、佐治亚州、马里兰州、麻萨诸塞州、新泽西州或佛蒙特州，那么，依照法律，你就有权每年享受一次免费报告，否则，这样的报告每次就要花去你8 到14 美元。要尽量避免使用要价70美元的全年信用报告监控服务；这笔费用比窃贼之间目前实行的价码还要高10美元。如果你认为你是信用卡被盗案的受害人，你就可要求将欺诈警报在这三家信用报告公司存档待查。你也可从www.consumer.gov/idtheft网站上下载一种窃盗报告表格。这张表格与地方警察局的报告一起，在怒气冲冲的债权人来找碴儿时，能派得上用场。别指望有什么公正。那位胆大妄为的help-desk服务系统工作人员就是不到个人信用信息窃贼2%的很少几个伸手被捉的盗贼之一。
07年考研英语阅读理解精读100篇unit13

Unit 13 

As a track star in high school, Sallie Krawcheck ranked among her state's best at the high jump. But she hasn't jumped for anyone since, and her unshakable independence has propelled her career on Wall Street to heights unimaginable to a girl coming of age in Charleston, S.C., in the 1970s. Then, Krawcheck--always an outstanding student--thought mostly of cheerleading and "dating the coolest boy," she acknowledges. "She was in danger of becoming terminally cute," recalls her high school guidance counselor, Nancy Wise, who recognized Krawcheck's potential early and stoked her business ambitions. Today Krawcheck, 37, is one of the most powerful women in the corporate world and a rising star.
How far she climbs depends on how well she meets her latest challenge: closing the credibility gap at financial-services giant Citigroup, after government inquiries put a cloud over the firm's reputation--and its stock. Krawcheck was hired in October from the independent stock-research firm Sanford C. Bernstein (where she was CEO) to be Citi's designated savior. Citigroup's proud CEO, Sanford Weill, personally wooed her, reorganizing a large chunk of Citi around her. Krawcheck is now CEO of a reconstituted Smith Barney, which encompasses Citi's stock-research and retail-brokerage operations.

This large stage leaves Krawcheck outwardly undaunted. She's relaxed and confident, with a self-deprecating sense of humor. She says she's "incredibly insecure," and has had nightmares in which she fails to win the respect of her new colleagues. But this soft-spoken humility belies a toughness present from the start. Daughter of a lawyer and sister of three more, Krawcheck learned early on to substantiate her assertions--or keep quiet.

"It used to get quite interesting around the dinner table," says her father Lenny, who practices law in Charleston. "Politics, relationships--you name it. It was every man for himself and awful tough to make your point." Jokes Sallie: "None of us could get a friend to come over for dinner."

Krawcheck earned a journalism degree from the University of North Carolina and an M.B.A. from Columbia University. She went to work at Salomon Brothers but soon moved to Donaldson, Lufkin & Jenrette, where she met her husband Gary Appel. In 1994 Krawcheck moved to Bernstein and dived into stock research. She began covering financial-services firms in 1997 and immediately became the most influential analyst in that field. During those years, Krawcheck earned Weill's ire--and respect when she was later proved correct--by dwelling on the pitfalls of Weill's acquisition of Salomon

注（1）：本文选自Time; 12/2/2002, p52, 1/2p, 1c；
注（2）：本文习题命题模仿对象2003年真题Text 2；
1. The author begins his article by __________.

[A]making a comparison

[B]posing a contrast

[C]justifying an assumption

[D]explaining a phenomenon

2. Krawcheck was chosen the CEO of the Smith Barney because ___________.

[A]the CEO of the Citigroup trusted her

[B]she was thought to be able to save Citigroup out of trouble

[C]she has wonderful experience in this field

[D]she is the new rising star

3. Krawcheck’s success depends on ___________.

[A]how well she can regain the firm’s reputation

[B]how well she can save the firm’s credibility crisis

[C]how well she can raise the firm’s stock

[D]how well she can fulfill her own plan and aim

4. The previous days Krawcheck spent at home are mentioned to show that __________.

[A] Krawcheck knows well how to prove her ideas

[B] family members are always on different sides.

[C]there is an air of freedom at Krawcheck’s home

[D]they have a variety of topics at dinner

5.From the text we learn that Krawcheck is ___________.

[A]humorous

[B]soft-hearted

[C]sensitive

[D]strong-minded 

答案：ABBAD

篇章剖析
本文记述了萨利•克劳切克成功的职业生涯。第一段指出中学时代的克劳切克就相当出色，今天的她更是出类拔萃；第二段指出她临危授命，担任花旗集团（Citigroup）新组建的史密斯•巴尼公司首席执行官；第三段和第四段介绍了她的性格以及家庭对她的影响；第五段介绍了她辉煌的从业经历。
词汇注释

stoke vt. 给(火或火炉)添加燃料，拨旺(火或火炉)；照管(火炉等); 司(炉)

credibility gap 信用差距
cast (put) a cloud on [upon] 在...上投下一层阴影
woo vt. 向...求婚, 求爱；恳求，请求；劝说, 拉拢(人)(做某事, 投入某项行动等)

belie [] vt. 使对…产生错觉；使人对…误解；掩饰；显示(希望、诺言等)不真实(是虚假的)；使失望; 辜负
early on在早期
substantiate vt.证明，使...具体化，使成为现实
assertion [E5sE:FEn] n. 主张, 要求, 断言
stand to one’s assertion 坚持已见
for oneself 为自己; 代表自己; 独力地; 亲自地
ire [] n. 忿怒，愤怒，怒火
dwell on v. 细想, 详述，详评，如：
pitfall [] n. 陷阱, 圈套, 诱惑；易犯的错误；(由疏忽而出的)毛病, 缺陷, 失误
难句突破
1．But she hasn't jumped for anyone since, and her unshakable independence has propelled her career on Wall Street to heights unimaginable to a girl coming of age in Charleston, S.C., in the 1970s.

主体句式：she hasn't jumped for anyone since, and her independence has propelled her to heights …

结构分析：本句是and引导的两个并列句。在这个句子中，注意propel的用法：“propel sb. to do sth”，意思是“促使、推动某人做某事”；“unimaginable to a girl”做后置定语来修饰“heights”；“coming of age”做后置定语修饰“a girl”，其中“age”的意思是“成年”。
句子译文：但她从那以后再也没有为任何人跳过，而她那不可动摇的独立性把她在华尔街的职业生涯推向一个在二十世纪七十年代对一个来自南卡罗来纳州查尔斯顿正在步入成年之列的少女来说不可思议的高度。
2．How far she climbs depends on how well she meets her latest challenge: closing the credibility gap at financial-services giant Citigroup, after government inquiries put a cloud over the firm's reputation--and its stock.

主体句式：How far she climbs depends on how well she meets her latest challenge …

结构分析：从句“how far she climbs”做句子的主语；从句“how well she meets”做动词短语“depend on”的宾语；“closing the credibility gap”做伴随状语，其中“credibility gap”的意思是“信用差距”，“put a cloud over”的意思是“在...上投下一层阴影”。
句子译文: 她能取得多大的成就取决于她如何迎接她的最新挑战：在政府的调查使公司的名誉——及其股票——罩上一层阴影之后，缩小财政服务巨人Citigroup集团的信用差距。
题目分析
1.答案为A，属事实细节题。文章中提到中学时代的克劳切克和今天的克劳切克都是相当成功的。
2.答案为B，属事实细节题。原文对应信息是“Krawcheck was hired in October from the independent stock-research firm Sanford C. Bernstein (where she was CEO) to be Citi's designated savior.”。
3.答案为B ，属推理判断题。原文对应信息是：“How far she climbs depends on how well she meets her latest challenge: closing the credibility gap at financial-services giant Citigroup, after government inquiries put a cloud over the firm's reputation--and its stock.”。本句的分析参见难句突破部分。
4.答案为A，属推理判断题。第三段最后一句指出“Daughter of a lawyer and sister of three more, Krawcheck learned early on to substantiate her assertions--or keep quiet.”，然后作者在第四段给出克劳切克的父亲和她本人的感受，来进一步来说明这一句话。
5.答案为D，属事实细节题。原文对应信息是：“But this soft-spoken humility belies a toughness present from the start.”。
参考译文
作为中学时代的径赛明星，萨利•克劳切克曾名列她所在州跳高运动的榜首。但她从那以后再也没有为任何人跳过，而她那不可动摇的独立性把她在华尔街的职业生涯推向一个在二十世纪七十年代对一个来自南卡罗来纳州查尔斯顿正在步入成年之列的少女来说不可思议的高度。克劳切克——她总是一名杰出的学生——承认说，主要想的就是如何带领啦啦队和 “约会最酷的男孩。” 很早就认识到她的潜能并激发她商业雄心的中学指导顾问南希•怀斯回忆说，“她极有可能成为绝顶聪明之人。” 今天，37岁的克劳切克是商界最强有力的女人之一，是一颗冉冉升起的明星。
她能取得多大的成就取决于她如何迎接她的最新挑战：在政府的调查使公司的名誉——及其股票——罩上一层阴影之后，缩小财政服务巨人Citigroup集团的信用差距。克劳切克是10月从独立的股票研究公司——桑福德•C•伯恩斯坦公司(在这家公司她是首席执行官)被招聘为选定的Citi集团的救星。Citigroup集团高傲的首席执行官桑福德•韦尔亲自恳求她，把Citi集团的一大块重组在她周围。克劳切克现在是重组后的史密斯巴尼公司(其中包括 Citi集团的股票研究和零售经纪业务)的首席执行官。
这个大舞台让克劳切克无所畏惧地向外扩张。她显得轻松自如且胸有成竹，带有几分自贬式的幽默感。她说她感到“难以置信地没有把握，”常常做恶梦，梦见她得不到新同事的尊敬。但是这种说起话来让人感到温柔可亲的谦卑掩饰了她一开始就有的坚韧与果断。作为律师的女儿和另外三个姊妹的姐姐, 克劳切克很早就学会了如何证实自己的主张——或保持镇静。
“过去围坐餐桌就餐是相当有趣的，”她父亲伦尼——他在查尔斯顿当律师——这样说。“政治、关系——你只管讲出来。每个人都讲自己的观点，要想讲清一个论点着实很困难。”萨莉开玩笑说，“我们谁也不能邀请朋友来吃饭”。
克劳切克先后获得北卡罗莱那州立大学的新闻学学士学位和哥伦比亚大学的工商管理硕士学位。她到萨洛蒙兄弟公司工作，但很快就转到唐纳森、拉夫金-詹雷特公司工作，在那儿她遇见了她的丈夫加里•阿普尔。1994年，克劳切克中转入伯恩斯坦公司，此后便一头扎进股票研究工作。1997年，她开始涉足金融服务公司，很快便成为该领域的最有影响力的分析家。在这几年中，克劳切克对韦尔收购萨洛蒙公司一案进行了详细评述，这激起了韦尔的忿怒，同时也赢得了他的尊重，因为后来的发展证明她是正确的。
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Unit 14 

The train was running late, but the 35 aboriginal children who had travelled for two hours through the South Australian desert to meet it did not seem to mind. It was, after all, Australia’s and one of the world’s most unusual train journeys. When the Indian Pacific passenger train finally ground to a halt at Watson, a siding on Australia’s transcontinental line, the children burst into a rendition of a Spanish Christmas song, "Feliz Navidad", as Father Christmas disembarked to distribute gifts.
Watson is a red desert moonscape on the Nullarbor Plain at the eastern end of the world’s longest stretch of straight rail track, 478km (297 miles). This is a mere one-tenth of the 4,352km, three-day journey the train was making between Sydney on Australia’s east coast and Perth on the west coast. The Indian Pacific and its predecessors, such as the Tea and Sugar Train that took provisions to isolated outback communities, were once symbols of Australia’s conquest of its vast distances. But by the 1990s, air travel and the neglect of Australia’s railways by their federal and state-government owners almost killed the last east-west passenger train.

After threatening to close the loss-making Indian Pacific, the federal government in Canberra sold it and the Ghan, another outback passenger train, to Great Southern Railway (GSR), a British-owned private consortium, in 1997. GSR has now turned a first-year loss of A$20m ($15m) into a small operating profit by restoring rolling stock, hiring young, multi-skilled, non-unionised crews and re-marketing the trains to locals and tourists alike. One innovation was to send the Indian Pacific on a whistle-stop Christmas run taking gifts and music to the outback. This year’s journey, the fifth, with impromptu concerts at remote sidings by Jimmy Barnes, an Australian rock star, drew the biggest crowds so far. Broken Hill, a town in western New South Wales struggling since its big silver, lead and zinc mine started winding down, now relies on the Indian Pacific’s tourist passengers for economic lifeblood.

The Ghan’s revival on the north-south transcontinental line has been even more remarkable. The 65,000-plus passengers it carried through the Northern Territory in 2004 were 60% more than in the previous year. Public interest grew after the opening of a new line between Alice Springs and Darwin, allowing people to make the two-day journey from Adelaide by rail for the first time. GSR plans to double the Ghan’s frequency in 2005.

The railway revival still has inefficiencies to overcome. The Indian Pacific competes for space on the single track with trains that carry 80% of the freight between Australia’s east and west coasts. Though most of the line is straight and flat, speed limitations mean this is not a journey for anyone in a hurry.

注（1）：本文选自Economist; 12/18/2004, p54-54, 2/5p；
注（2）：本文习题命题模仿对象2004年真题Text 1；
1.       What was the Indian Pacific like before its selling to GSR?

[A]It always posed a threat to the federal government.

[B]It was mainly used for carrying cargos.

[C]It almost broke down and collapsed.

[D]It helped Australia conquer its vast land.

2.       Which of the following is not true about “the Indian Pacific”?

[A]It was not popular with passengers with its low speed.

[B]It used to be a symbol of Australia’s conquest of its vast distance.

[C]It almost disappeared because of the air travel and the neglect of Australia’s railway.

[D]Many ways have been adopted to revive it.

3.       The main idea of paragraph 3 and paragraph 4 is that __________.

[A]what is the use of reviving the railway

[B]what effect the revival of the railway has brought about

[C]how to deal with the difficulties in the development of railway

[D]how the measures are adopted to revive the collapsing railways

4.       What benefit can the revival of the railway bring to some remote and rural area?

[A]It can bring happiness to the children there.

[B]It can help develop the economy.

[C]It can lessen the burden of the government.

[D]It can bring a lot of job opportunities.

5.       What difficulty is the Indian Pacific facing today?

[A]The train goes so slowly that many people will not take it.

[B] The frequency of using the single track line is low.

[C] The space for developing the Indian Pacific is not large enough.

[D]Carrying passengers is less profitable than carrying the freight.

答案：CADBC

篇章剖析
本文介绍了澳大利亚一些通往内地的乘客列车由于某些原因几乎陷入关闭的境地，现在澳大利亚正在掀起复兴铁路的热潮。第一段介绍了世界上最不寻常的一次火车旅行；第二段指出曾一度是澳大利亚征服这片辽阔疆域的标志的列车它们现在的境遇；第三段和第四段指出复兴这些铁路所采取的措施；第五段指出这些列车所面临的一些问题。
词汇注释
clatter vi, vt. 发出得得、卡嗒、丁当、哗啦啦、格格等响声；嘁嘁喳喳讲话；(车轮转动时)发出急促的敲击声
moonscape  n. 月的表面(景色)；月面似的荒凉景色
grind vi. 磨, 碾, 研; 磨碎[光、快]；磨擦得嘎嘎响；刻苦用功
siding [] n. (=sidetrack)(铁路)旁轨, 岔道, 侧线
transcontinental adj. 横贯大陆的, 大陆那边的, <主加拿大>横穿大路的列车(或铁路)

rendition [] n.表演, 演唱, 翻译
Nullarbor [] Plain 纳勒博平原[澳大利亚西南部](火箭制造基地和试验场)

Perth 珀斯(也译佩思)(澳大利亚西南一城市)

predecessor [] n.前辈, 前任, (被取代的)原有事物
provision [] n.供应, (一批)供应品，补给物；预备, 防备, 规定
outback [] n.内地, (指澳大利亚等偏僻而人口稀少的地方)

neglect n. (常与of连用)疏忽；忽略；被忽略的状况；被忽略的事实
the Indian Pacific, the Ghan and the Overlander, The Great Southern Railway均为澳大利亚铁路线的名称，分别是“印度太平洋”、“甘”、“陆地旅行” 和“大南方铁路” 等线路。
distance n. 宽阔的区域，一片没有指定界限的空间
rolling stock n. 机车车辆(铁路或汽车运输公司的)车辆(总称)，全部车辆
whistle-stop n. (AmE.) (铁路沿线的)小镇；(竞选演说旅途中的)游说；短暂停留(露面或发表简短演说)

run  n. 短期旅行或访问；为公共职位而进行的竞选
wind [] down 松开(发条) 使放松下来；把(汽车玻璃)摇下；失去势头; 减速; 松劲，渐减能量、强度或范围上渐渐减少
lifeblood  n.生命必须的血液, 活力的源泉，命脉，生命线
难句突破
1．When the Indian Pacific passenger train finally ground to a halt at Watson, a siding on Australia’s transcontinental line, the children burst into a rendition of a Spanish Christmas song, "Feliz Navidad", as Father Christmas disembarked to distribute gifts.

主体句式：the children burst into a rendition of a Spanish Christmas song …

结构分析：“when”引导时间状语从句，其中“grind to a halt”的意思是“慢慢停 了下来”，“a siding on Australia’s transcontinental line”是“Watson”的同位语；主句中词组“burst into”的意思是“ 突然出现”，“Feliz Navidad”是“a Spanish Christmas song”的同位语，“as”引导时间状语从句。
句子译文：当这列印第安大西洋旅客列车终于在沃森车站——澳大利亚横穿大路铁路的侧线——嘎的一声停下来时，圣诞老人下车开始分发礼物，此时，这些孩子开始欢快地唱起了一首西班牙圣诞节歌曲——《白色圣诞节》。
2．GSR has now turned a first-year loss of A$20m ($15m) into a small operating profit by restoring rolling stock, hiring young, multi-skilled, non-unionised crews and re-marketing the trains to locals and tourists alike.
主体句式：GSR has now turned a first-year loss of A$20m ($15m) into a small operating profit…

结构分析：本句是一个简单句，关键是理解介词“by”之后所跟单词的含义。
句子译文：“大南方铁路”采取了一系列整顿措施，包括修复机车车辆、雇佣年轻、具备多种技能、未参加工会的乘务人员、向当地居民和旅游者重新进行市场宣传等。通过这些措施，它不仅初步扭转了亏损局面，填补了高达2千万澳元(1.5千万美元)的第一年亏损额，还获得少量营业利润。
题目分析
1.答案为C，属事实细节题。原文对应信息是“But by the 1990s, air travel and the neglect of Australia’s railways by their federal and state-government owners almost killed the last east-west passenger train.”
2.答案为A，属事实细节题。原文对应信息是“speed limitations mean this is not a journey for anyone in a hurry.”。列车实行的限速意味着这条线路对于有紧急公务在身的乘客并不适合，并不是针对所有乘客。
3.答案为D ，属主旨大意题。第三段和第四段主要指出为复兴这些铁路所做出的努力和尝试。
4.答案为B，属事实细节题。从句子“The Indian Pacific and its predecessors, such as the Tea and Sugar Train that took provisions to isolated outback communities, were once symbols of Australia’s conquest of its vast distances.”我们可看出这些火车都是开往偏远的内地社区的。句子“Broken Hill, a town in western New South Wales struggling since its big silver, lead and zinc mine started winding down, now relies on the Indian Pacific’s tourist passengers for economic lifeblood.”告诉我们布罗肯希尔这个偏远地区的小镇现在正借“印第安号”旅行乘客的东风大力发展经济命脉。
5.答案为C，属事实细节题。原文对应信息是：“The Indian Pacific competes for space on the single track with trains that carry 80% of the freight between Australia’s east and west coasts.”。
参考译文
火车在晚点运行, 但坐了二个小时火车穿越南澳大利亚沙漠的35个土著居民的孩子似乎对此毫不介意。这毕竟是澳大利亚也是世界上最不寻常的一次火车旅行。当这列印第安大西洋旅客列车终于在沃森车站——澳大利亚横穿大路铁路的侧线——嘎的一声停下来时，圣诞老人下车开始分发礼物，此时，这些孩子开始欢快地唱起了一首西班牙圣诞节歌曲——《白色圣诞节》。
沃森火车站是纳勒博平原上一个荒凉的红色沙漠景点，位于世界上最长的直线铁路(478km 或297英里)东线的末端。这仅仅是从澳大利亚东部海岸的悉尼到西部海岸珀斯长达4,352公里的三天旅程的十分之一。“印第安大西洋”和它以前的列车，如曾经向与世隔绝的内地社区运送供应物资的“茶糖列车”, 曾一度是澳大利亚征服这片辽阔疆域的标志，但在上个世纪90年代以前, 航空旅行以及包括联邦政府和州政府在内的铁路所有者对澳大利亚铁路的忽视几乎扼杀了这条最后的横贯东西的旅客列车线路。
在堪培拉联邦政府扬言要关闭长期亏损的印第安大西洋铁路线之后，它于1997 年把印第安大西洋线路和另一条澳洲内地旅客列车线路——甘铁路——卖给了一家英国人拥有的私有财团——“大南方铁路(GSR)”。“大南方铁路”采取了一系列整顿措施，包括修复机车车辆、雇佣年轻、具备多种技能、未参加工会的乘务人员、向当地居民和旅游者重新进行市场宣传等。通过这些措施，它不仅初步扭转了亏损局面，填补了高达2千万澳元(1.5千万美元)的第一年亏损额，还获得少量营业利润。其中一项创举是安排“印第安大西洋号”列车沿着铁路线做圣诞节短期宣传访问，把圣诞礼物和音乐带给澳大利亚偏僻的内地。今年的圣诞之行是这一创举的第五次出行，它带给遥远铁路侧线各地居民的是澳大利亚摇滚明星吉米•巴尼斯出演的即兴音乐会。这次宣传访问吸引了成千上万的观众，观众人数是迄今为止最多的。布罗肯希尔是新南威尔士西部的一个小镇。自从当地的大型银矿、铅矿和锌矿开采的势头开始下降以来，这个小镇一直在苦苦挣扎寻找发展出路。现在，它正借“印第安号”旅行乘客的东风大力发展经济命脉。
甘线铁路是南北横贯大陆铁路线上的一条侧线，它的复兴更显得非同寻常，引人瞩目。2004年，它在北领地承载的旅客量达到65,000多人，比上一年增加60%。自从在丽斯斯普林斯和达尔文之间新建了一条铁路线后，人们第一次可以从阿德莱德坐火车进行两日游，这使公众出游的兴趣大增。2005年，“大南方铁路”计划将乘坐甘线列车的乘客人次增加一倍。
复兴铁路仍有许多效率低下的情况需要克服。印第安大西洋铁路为唯一一条铁路线上的空间进行竞争。这条线路上的列车运载澳大利亚东部和西部沿海之间地区的80%货物。尽管这条线路的大部分路段笔直平坦, 但这条线路上对列车实行的限速则意味着这条线路并不适合于紧急公务在身的乘客。
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